X8 MIRAN®
KHBEPHEBTRG

MIRAN CENTRALIZED LUBRICATION SYSTEMS

i

FREE— BARZEE BEARF

Quality First Customer First Credit First




B MIRAN®
HSCONTENTS

/= -1 5
Company Profile

= 1 6-7
Product Picture

BRI B R I B 8
Installation Diagram of Volumetric Lubrication System

B RGBT B 9
Installation Diagram of Resisitant Lubrication System

M ER B R G R B 10
Assembly drawing of pressure lubrication system

iR = i = 11

The Model and Description

MR B 1t 4 8 (200-300CC) Thin oil pump discharge (200-300cc)

MR-2202 (2L)¥ B & #E MR (AC220V/110V) ..o 12
Semi-automatic Thin Oil Lubrication Pump

MR-2232 (2L)& BE&E MR (AC220V/110V) ..o o 13
Automatic Thin Oil Lubrication Pump

MR-2202 (3L)¥ BE1#EHER (AC220V/110V) .. ..o 14
Semi-automatic Thin Oil Lubrication Pump

MR-2232 (3L)2 B&##ME (AC220V/110V) ..o 15
Automatic Thin Oil Lubrication Pump

MR-2202 (4L)¥ B Eh B E (AC220V/110V) .« 16
Semi-automatic Thin Oil Lubrication Pump

MR-2232 (4L)& B & # MR (AC220V/110V) . o 17

Automatic Thin Oil Lubrication Pump

HBEA— AR B 1t 2 (200-300CC) Oil and grease pump discharge (200-300cc)

MRG-3202 (3L)¥ B &M s # il — KR (AC220V/110V) ... 18
Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump

MRG-3232 (3L)2 B &MASF M — A F (AC220V/110V) ... oo 19
Automatic Grease and Thin Oil Lubrication Intergrated Pump

MRG-2202% Bl (4L)% BaMBE# M — AR (AC220V/110V) ... .. ... 20
Semi-automatic Grease and Thin Oil Lubrication Pump with Continuous type

MRG-2232% # Bl (4L)2 BaMBER M — AR (AC220V/110V) ... .. 21
Automatic Grease and Thin Oil Lubrication Intergrated Pump

MRG-3202 (5L)3% B &M A 8 — 3R (AC220V/110V) ... 22

Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump

2



el MIRAN®
HSCONTENTS

MRG-3232(5L)2 BahmBE# M — KR (AC220V/110V) .. ... 23
Automatic Grease and Thin Oil Lubrication Intergrated Pump

MRG-3205(5L) B el mAE M — IR RDC24V . . ... 24
Semi-automatic Grease and Thin QOil Lubrication Intergrated Pump

MRG-3235(5L) & B #HAS M —RZDC24V ... 25

Automatic Grease and Thin Oil Lubrication Intergrated Pump

HBE R — AR A nt 1 = (300-5000¢) Oil and grease pump discharge (300-500cc)

MRG-5202 (3L)¥ B &M Ag # M — R R (AC220V/380V) . ... .o 26
Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump (Large Oil Output)

MRG-5202 (4L)¥ BxiHlE#wBE— AR (£EHFE) (AC220V/380V/DC24V) ........... 27
Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump with Metal Tank(Large Oil Output)

MRG-5232 (4L)2 BEhE#HH— AR (£BEHmFHE) (AC220V/380V/DC24V) ........... 28
Automatic Grease and Thin Oil Lubrication Intergrated Pump with Metal Tank (Large Oil Output)

MRG-5202(5L)% B 5hH A5 #% M — KR (AC220V/380V/DC24V) .. ... 29
Semi-automatic Grease and Thin Oil Lubrication Intergrated Pump

MRG-5232(5L)% B &l BE ¥ 5li — A R (AC220V/380V/DC24V) . ... ..o 30

Automatic Grease and Thin Qil Lubrication Intergrated Pump

B BE & Grease pump 000 #~ 00 #

MRH-1202-100T¥ B &1HAE R (AC110V/AC220V/380V/DC24V) .. 31
Semi-automatic Grease Lubrication Pump
MRH-1232-100TB2 B a1/HAE R (AC110V/AC220V/380V/DC24V) . . ... 32

Automatic Grease Lubrication Pump

T 5/ Z% BY(F 3f1 ZR)Dry type oil pump 000 #~ 3 #
MGH-1202-100T 3 B &) F R (B E) (AC220V/380V) ..ottt 33

Semi-automatic Dry Oil Pump (Butter Lubrication Pump)

MGH-1205-100T B FHREEMBRE)DC24V . ... 34

Semi-automatic Dry Oil Pump (Butter Lubrication Pump)

MGH-1232-100TB4 B & T H % (& # %) (AC110V/AC220V/380V/DC24V) .............. 35

Automatic Dry Oil Pump (Butter Lubrication Pump)

R4 R H Cycloidal pump

BREE T BTN 36

Cycloid pump series




el MIRAN®
HSCONTENTS

I]:'-?-EE-

FEZZR!  The spray shape
B A B 8. . 37

Cooling Lubrication Sprayer with Self-priming

MR E B R A E T . 38

MRQ Semi-automatic Oil Mist Lubrication Pump

MRQHEEE B R R ETN . . . .. oo 39

MRQ Automatic Oil Mist Lubrication Pump

MYWaE B L B R . . . 40

MYW Electrification Oil Mist Lubrication Pump

FHREY (FEFEFUFHIRBERE FERFHIREBR)

Manual pump type (hand/hand pressure/hand pull/manual butter pump)

FR R FEIEB IR 41
Oil Lubrication Pump with Hand Shake
FE R B IR . . 42

Manual Pressing Lubricating Oil Pump

DECRR I (BT Al V8 E 8 0k 57 BL 25

Distributor class (dual/single/adjustable/lock adjustable quantitative pressure distributor)

LA/LV/LK/LE/LB/LBM B B8 . oo 43-46
LA/LV/LK/LE/LB/LBM Distributor

IDEERERNBEHSERF/ EEFRAXNBBOES ... 47
LD Quantitative Deoiling Thin Oil Distributor / Volumetric Thin Oil Distributor

ICEEREXNEHAR BT/ EESRAeHAXBE R ESE. ... 48
LC Quantitative Decompression fully enclosed thin oil distributor / quantitative fully enclosed volumetric thin oil distributor

LH/LP B E B N E N D B B 49

LH/LP Grease Ration Pressurized Distributor
JEEFESL S Lubricating joint
B B 50-56

Lubrication Accessories

B T R AT . .. 57-58

Proportional Restrictor Rod

N Pyl N Parlas
B E T B 59
Oil Tubing / High Pressure Oil Tubing

B R B 60

High Pressure Tubing Joint

T B O 61

Tubing filter

= WHFEHEPS 5% Solution to solve common troubles

/SRR . . . 62-63

Qil Calculation/Troubleshooting




.y &) & Jrcompany mtroductlon | }KEH A\\“{A\N®

RINBKANBEAERLAFARZZEFRAENSHEAL L., AFAEREIERITAASHFRBIEXPZOME, &EFILE
B, HEAFO. FEB, RUFL, EERESH,. EEBPUREGEZEMNEHMEL. REFSMEHEE, AFrXEPREHEAE
B, RERRS. AFEPILEEHTEI0OZHIRCIWERK, #HBE50000% FRMTLLESEE, SIHFMRLEESEN
BRI0008 8. ARIE~GIYEECE, 3CIAIE, FH3£181509001:2008EFRREAXRFRINE, THIZBERESIALFREHLEIE
it ETNEE, MRIRRE. BRHE.

RIFT KA ERQAFAECEARAZEMNZHNNHEPERREEWE”T K. FEXMEEZT2003F4, EFEABRE”
mMEFTE, RERE, E82FHERAN, MEX, FRX, B#FX, BERX, BHKXNET, HHEE"R. "R ZEATE
MUIEI RS BUENKR,. MIFD, hE, BE. BE. 8. B KT, %1, 7l BE. B, £/7% . TRENM.
B, IR, ERFZITUNIMEENERRAERAEREEREHERSE, ARERRGSTREELESH, EERNEEN
HWRIMLTENEBHEL.

A MEOR R

— BAMETHE, QXBRERICAXFHAILERERLEABETEM, HERM, HERE, TLUERA#E
BEK.

R0 EUHWERREFENEEEREAR, A5XEMEEREREBRRELWLEE, MRBEHLFESISEKX
HAETIELEREBESR, RESTAREFIRENERERESR.

ZRENHEENMERRS®R. ATAUERRY, E2HIBFETINVREMEISANERHENG, RERE. H#U.
Foy T FML ML B BN KD RER. AR, RXiE, IAFHES AT RIER, HHRE ZARKES, #
SIREANHENSSEIITY, mREHEEERBEL. BTH. TEH, BDE. #H. REXFHMX, FEL] “RYAKE
WL G, NMitEAHE.

NAFRE "REF—. AREL, BEAKX” WRE, IEBEFPREMERNmRANKRS. W KEFKRB. KK, KE,
Eifl, AR, EEREXIGES. W XEBERPEEEESX, ABHFEAEKAEHBEX~R.

Shenzhen Miran Technology Co., LTD. Is a national high-tech enterprise. The headquarters of the company is located at the centrol of
shenzhen guangming high-tech park, with engineering department, research and development center, manufacturing department, testing
center, after-sales service department, Marketing Department and direct sales offices, agents and dealers all over the country, providing
thoughtful and timely services for our customers. The company has a modern industrial park of more than 300 mu in xiangyang city, hubei
province, and a dust-free cleaning workshop of more than 50,000 square meters. It has introduced more than 3,000 sets of modern
manufacturing and testing equipment. All products of the company have obtained CE and 3C certification, and obtained 1SO9001:2008
international quality system certification, in accordance with the international quality certification standards organization design , production
and sales strictly, to ensure product quality and customer satisfaction .

Shenzhen Miran Technology Co., LTD.Has developed into a famous professional manufacturer of centralized mechanical lubrication
system. In the mainland was founded in early 2003, the centralized lubrication system product variety is complete, the quality is stable,
including dry and thin oil lubrication products with resistance type, the pressure type, the volume type, the circulation type, the mist type, the
progressive type and etc . Products are widely used in industries of machinery lubrication system and chassis centralized lubrication system,
such as all kinds of metal cutting, CNC machine tools, processing center, stamping, forging, forging, textiles, plastics, wood, rubber, mining,
metallurgy, elevator, production line, engineering machinery, construction, printing, food and so on , lubrication system products sold
throughout the country, The company also has set up many multiple offices in major domestic cities .

Our advantages:

1.Strong Production Ability. The company has set up large production bases in guangming district of shenzhen and xiangyang of hubei
province, with timely supply and sufficient spot, which can meet the demand of large quantities of orders.

2. The company has nearly 20 years of professional experience and technology in mechanical lubrication system manufacturing, and
cooperate with the most famous lubrication system enterprises in the United States and Germany, actively develop and manufacture products
leading the future development trend of the lubrication industry, to serve the lubrication solutions proposed by different customers.

3.Perfect sales and after-sales service system.The company based in shenzhen, which has set up multiple directly agencies on the main
industrial centers around the world , such as Dongguan, Foshan, Guangzhou, Ningbo, Hangzhou, Suzhou, Changzhou, Chengdu, Wuhan,
Changsha, Ci 'an, Tianjin, Shenyang and other branch or agent, sales agent and continue to develop, continue to expand domestic and
foreign market sales network, products have been sold to southeast Asia, Russia, Turkey, India, Iran, Europe and the United States and other
regions, all products can be obtained with professional lifelong maintenance , so that satisfy our clients .

Adhering to the tenet of "quality first, customer first, honesty oriented", the company provides customers with high-quality products and
services. Welcome customers to call, write letters, consultation, negotiation, cooperation or visit guidance. Customers are welcome to
contact us with customized products based on their own needs.



el MIRAN®

# M 23= & 5 Thin oil pump series

HiMER (FAFE) Butter pump (dry oil pump)

J
|

Fn'm ;z}’r*M




Bl MIRAN®

F IR 4 EL 28 LA K EB M4 & %1 B Manual pump distributor and diagram of lubrication accessories




el MIRAN®
_ FHRAHBRGEORRE

Installation Diagram of Volumetric Lubrication System

MH0418 MBO04 MA04

[ A oL
PT1/8% .

) MHO0418

MH0418 MBO04 MAO04 MAO4 MB04
o - e g
AMMB &
[
[

6mm

HE
B
MKDO06 MZ1106

8

'\ MG0610

'\ MZ1106

LC5-3

MAQ6_MB06 MB06 MA0G
—= e E)—E5 o g

MB04—> @& & & @& @

\MG0610

it & 2 %Fittings
® ———————— O6mmMifE oil tube

® —————  O4Amm;BE oil tube




6mm

MH0418 MB04

o a -
PT1/8Y ",
‘

o

el MIRAN®
M HABRGERE

Installation Diagram of Resisitant Lubrication System

MAO04

em%

MH0418

e i

)
[}

MHO418 MAOQ4 MAO4 MBO4

J
[}

MB04

o

AMMHE Y

U 000 <«—Maos
MA06 MB06 ® © © © «<—MB06
e Gpa—— - -
LY &
- X MKDO06 X MZ1106 D@ X MG0610
& X 1v046-06
X Mz1106
LV026-06
MA06 MBO6 LB044 MB06 MAO6 -
rd ¥ ¥ v e
L eZ)—— s o™ W=
. T Mweosto
MBO4 —> & ® MB04 —> & &
MA04 —>

T

MA04 —>» @
MBO4—>¢D ®
e

[
L]

MA04 —> @ ﬁ

MB04 —>»> & @

MDO0408—> | h—»MHoms
)
'

MD0408 —>»

"5‘5@3—@3
-ERsI—E2 2

fit & 2 %Fittings
° ®6mm;BE oil tube
) ®4mmiBE oil tube




inJE 3

BRGRAC

el MIRAN®

L2

Assembly drawing of pressure lubrication system

MHO0418 MBO04 MAO04

MH0418

I\M\M‘BM T

N

)
)
MH0418

MBO4 MA04

ﬁeg

(0 J@

MB04

MAO04

@ |
AMME T t2 g
[}

D) --c ¢ &3

MA06 MBO06

I\ MZ1106

MA06 MBO06

&

NiHs-s  RMG0610

¥

_@g

MAO4 —>
MB04 —>»

??
’E

MD0408 —>» l

—’ﬂgﬁ
- =l ¢ &)

o
¢ 0

10

LH4-3 MB06 MA06 LH2-3
e&—E8 ¢ .

l MG0610

MB04 —> & @&

MAO04

MA04 —> @ @

MB04 —>»> & @

MD0408—> I 'ﬁ—'MHOMB
.
[}
it & 2 ZFittings

®6mmiBE oil tube

o4mmiBE oil tube




el MIRAN®

R E s K H ik BB AREZEAFSEZEEMERABAR

Model number and explanations Lubrication Program can be customized
[ | L |

=8| RRNRAIRE24ViH Blank:Liquid level alarm 24V output.
H [RR&BARE220vH H H: Liquid level alarm 220V output.
Z %% R E ?§ :_l:t EE. E% Z:;gg);;r;jgcrg?x molding machine for
J | TR F2 90 3148tk 3 B | Sl s ipen
K ﬁ /;J_? 3E *'TT 7??_ %'J Eﬁ % K:Non-standard custom circuit.

=8 | R R BALFF K A& @A) |Blank: level switch down is on(acauiesce in)

D |RRBMUFAXHALERE [D: level switch upison

00 |F/RFiRALFF % 00:without level switch
=8| RS ER Blank: without buzzer
B |7 g B 28 B: with buzzer

=@ |FRxF LB |Blank: induction motor
A |RREWREH |A: Motor

RAAFEENY, EERMENAsEFEA
RAFTHENE, EERRNSEFER

. Buiit-in pressure take-off mechanism

. Without pressure take-off mechanism

EHFF=EEE F11E Pressure switch action pressure
10| 10kgf/cm?
05 | 5kgf/cm? 05: 5kgf/cm?

—A X | 4| X

00:without pressure switch

SHFEA 2 Oil tank volume

[ fas|is 2 [ 3 ] afa] 5 [si]ar/61/81%]a 6 smemumm

i ] Foh 2 Motor type 41/61/81: 4L/6L/8L Metal Tank

— 1:single phase 110V 4:three phase 380V
1 110V 3 220V 5 m24vV .
#H =1 | B |2 single phase 220V 5:DC 24V
2 | BtE220V | 4 | =#8380V 3:three phase 220V
75 W AE B B f 3R 0: without dual-timer module
3 | EENK—3R) D o 42 il 2t 4 4 W AR A R B 3: [\(’)\{'Iégsdgﬁl grr'?er with digital display and

B HL AR B2PNumber ofmotor poles 2P

B RE St 2 Lubrication pump per minute discharge capacity

1 | 0~100CC 4 |300~400CC
2 [150~200CC 5 [ 400~500CC
3 | 200~300CC

B8 501378 3h 3R 4% = Code of Electric lubricating oil pump

MR | #5H R MR:oil lubrication pump

MRG| #% i1 3 BE — 1A IR MRG:oil and grease integrated pump
MRH | 6 A5 3R MRH:grease pump

MGH| 35 R/F MR MGH:butter pump

1 03 3T 0 B AT OB AR AR B 8], b R AT — E?LH&S%‘SFFTIE? %*RTA F#, TREBNEHRRIPELEITH.
. 2 #Enﬂiﬁlmﬁﬂﬂiﬂx,mméﬁgﬂﬁ HEBAEN~ME, BRI KT

3. MEMERLIRBERERES, MKIEE §2£EEE§_HME$EEF'§XE$U

Attention:

1. The working time of the asynchronous motor can be adjusted to a long time. For example, the pump can work continuously for 5 minutes without interruption.
2. Semi-automatic and fully automatic thin oil pump for 5L plastic fuel tank are regular products, which are not listed in the following data.

3. Fuel tank material can be customized, such as iron or aluminum, etc. Wiring circuit also can be customized

11



e MIRANS
MR-2202 (2L) 5 3 FB 2731175 S P L A

Oil Lubrication Pump Controlled by PLC Type

205 140
168
e
i ©
v?— 11 1N
[ I [ I
¥ K & #Technical Parameters
Ll g = = 15 A Ak B
Mﬁ!(—j‘%l E\E/J:Tl:tbfﬁi R?ted Plj]$ e EE;F”%A Rat%eﬁdipgsjgure Magfgj)crgsgre V%Iﬁ'q Digiriie Rated R%iik
ritar ; .
ode oltage Speeyd ower urrent(A) kgficm® kgflcm? olume capacity ml/min pIEZ?/Sclljw:? emarks
220V
MR-2202-200TA
02-200TA | 50/60HZ MR-22011t %
150~200 B E110V
220V ~
MR-2202-200XA 50/60HZ 2400 18W 0.12 18 35 2L CC/min 30-1000 MR-2202/% %
B E220V
220V
MR-2202-210XA 50/60HZ
B SETHBMR, SXATRK, HARERBEH,
*Mode name with "T" is resistant, mode name with “X” is volumetric,mode name with “A” is shade—-pole motor
- 2l . .
4 g€ 5 4F s Performance Characteristics
1. {3k e 0 (8] 8k B i) =) 3 471 BB A 4% 1) 1 7E . N A
2 RFEARER2, 3. 4, 5H%, M E150-200CC/min, HEB B AMITIMBITHEE, HHETEN, A%, REMMH. b 74
BHMREBEBEMAEANE (—MNMBER, —NEERD \
A TRBEAEREH SRS B U
(AIRBEEFFEEHERERBAFR) " i
1.0il supply and intermittent time are adjustable by PC controller. Pressure Relief Valve ] JE [} —» M
2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. Pressure Regulating Valvelfd [ jE] — Dl
There are oil level gauge and automatic oil control device on the oil tank. )
The red lightis on when the oil quantity is insufficient, which reminds you to fill it up. -

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.
(specific lubrication plan can be customized)

1 2% B The wiring diagram

24ViRE fTwarnning lamp
1®-h g
iR 1R R AT / 8 JE $5 75 k] manual button power LED
Az ® DK
K B MIRAN ) 4 220V
J ] ] RATARELT |
oil level warpning lamp
O O +
B R I HEE
ALARM oy T |—] HEaE
oo o000 s 2 ST ¢ 8 =2
112/3|4/5/6 g|H|E 102 4 3| (e
9 0 00|00 LS oo :2 . R ?;
SHENZF EN MIRAN TECHNOLOGY CO.,LTD L’| y zeroline R 7ot §—=
L T4 L l =
PLe PLC =
TRERIT REETIT AC220V * 7 X ARE R P& KIRT AC220V
WORK ALARM &3 Wire Connection can be Customized N

12




MR-2232 (2L)

K B MRS

K B MIRAY
) »

#Technical Parameters

B MIRAN®
# i BB B0 iE om R Rl e i &Y

Self-control electric oil lubrication pump

140@
@

- . R R . 5 HEE S BAEN . At 2 idilihls 5
Mg::;;ﬁal E\E'/cl)%tzﬁéf Rated ritary Plgjﬁr CurErEelrfIE(A) Rated pressure | Max pressure Vcﬁjﬁ‘we Discharge eré:tseu(:e Re%nlairks
Speed kgf/cm? kgf/cm? capacity ml/min kgf/cm*

220V
MR-2232-200TAB | 5476007 MR-2231f%
150~200 RefETov
MR-2232-200xAB | 5,220V 2400 18W 0.12 18 35 2L CSC/min 30-1000 | yR-22324¢
FHE220V

220V

MR-2232-210XAB 50760HZ

B SHETHMMR, TXABRRK, HARERBAH.
*Mode name with "T" is resistant, mode name with “X” is volumetric,mode name with “A” is shade-pole motor

£ F 73 7AMethod

1. TAEREL: KHSETER, L “08” RRBRBFERSN, MIFSETH, AV RIBEMIM IZTSETHR, RAVRBE+HE
B, BIRTSETH, RAVEREBMB(1-999F) .

2. [AEKEHE]: KIRSETHR, W “AE&K” RRBBFEMSE, MFSETH, BAVRIGEMIMN,; B TSETR, RAVEREHT
B BETSETE, HAVRBEEME; FAEREA VAR, 8BS/ (19999 R1-999%) ; BLAEHN: R
A WEL92ED, (8 BRETIE) AT 43/ R (1-99953 1-999/ A . y—
3.RSTHE, B—TUHBAEFIAXERSEREES. w ® om &
4 BEEIREBERGR T AMRE, FHALUB. INTEIR, #miEaLUBRITE, = LECD)
E] 8RBT A INTLLAT 5

5.ERO INMRET A FM B2, ERPNIERIRERENRE.

6. MR PIEMIRAWRITIZIEE, FTANFE=FNWBIBIZ. XHNFX=, BBBIZEL.
7THBEMNREREHDE-, TRESTEE, REFNEELTEMERERE.
(TRBEABEEZRERDBSR)

@ 0 O O

SHENZHEN MIRAN TECHNOLOGY CO.,LTD

1.Working time: press and hold the SET button, release it when the numbers jump, then press A ¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A V¥ ; press SET to hundreds digit(1~999 seconds).

2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, theright INT red light is on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.

6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.
(The lubrication program Can be customized according to customers’ requirements)

13



B MIRAN®
# M BB B )E /B RPLCHY

Oil Lubrication Pump Controlled by PLC Type

MR-2202 (3L)

153.5

H

24

e

3 R £ ETechnical Parameters

- - = = 15 FA e FE
o - BE B R 2z 5 HEED BREN . it i = N
Mg%c?el %Eti%f Ml Pch>Jw$er Cur?élr}?t(A) RELR (BRI | RN el Vtﬁuﬁe sl e prz::.l(:e Re%I,aErks
Speed kgf/cm kgf/cm capacity ml/min kgf/cm?
220V
MR-2202-300TA
50/60HZ MR-22311k %
150~200 ROV
MR-2202-300XA 50%%2 2400 18W 0.12 18 35 3L CC/min 30-1000 | yroo2sop s
B E220V
MR-2202-310XA | 2208,

B SHETAMMR, TXAFTRAN, FARSREN,

*Mode name with "T" is resistant, mode name with “X” is volumetric,mode name with “A” is shade—-pole motor

14 B 5 4% S Performance Characteristics

1. 44 3 A0 150 BB 190 ) 3 L B B 5 13 72 «

2 A BAL 3. 4, 5%, ALHE150-200CC/min, MEBEMAMHHEHEALE, WHEREN, 445, REME.
3 MEBENBEME (— A AER, —A0E") |
LTREEAEREHNEREE RS
(TREEFEEZMERABSE)

1.0il supply and intermittent time are adjustable by PC controller.

2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc.
There are oil level gauge and automatic oil control device on the oil tank.

The red lightis on when the oil quantity is insufficient, which reminds you to fill it up.
3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

Pressure Regulating Valveijﬁ }:Tg Hﬂ —> ﬂ

The control panel

24ViRE fTwarnning lamp

REFF R
@ iR 1R R AT 8 JE $5 75 k] manual button power LED
1 DK
K & — ] e
7|t EHA\\II{AK\ J ] ] ! oliLIIev?Iwarwningl mp
1
® j -
2 5 |—] IR E
EBiR o o (o000 5 % e T\ % _):‘: g
112/3/4/5/6 ¢|H 2 3| |2
IR FlH|S 112134 £ [
L’ & zeroline = Ld ,’ hJ z‘er g 5
TIRETIT L T4 L lL %&
WORK PLC PLC :
AC220V * Bk ARG A P& K& AC220V
N Wire Connection can be Customized Nk

14



e MIRANS
MR-2232 (3L) s 3 BB 2 50 2 3 2 1 e g

Self-control Oil Lubrication Pump

163.5

) ¢ “~ T “‘ |:|J
i - " ©
T
&
A\ 7

7 K & #Technical Parameters

4

- o | mmsm : HEEH BREN - g | EREME ,
il B E SR - IhEE iR = ) Rated %
Model Voltage Rated ritary Power | Current(A) Rated presiure Max presszure VElHE Dlspharge i pressure Remlarks
Speed kgf/cm kgf/cm capacity ml/min kgf/cm?®
MR-2232-300TAB 503%8}:2
MR-22311% %
B E110V
2232 220V 2400 18W 0.12 18 35 3L 150~200 30-1000
MR-2232-300XAB | 5%% 01> : CC/min MR-2232% 2
220V B E220V
MR-2232-310XAB 507/60HZ

B SHETAMMR, TXAFTRAN, FARSREN,

*Mode name with "T" is resistant, mode name with “X” is volumetric,mode name with “A” is shade-pole motor

M 88 5 4%F S Performance characteristics

1. hn kA A R EAR A M A EF (UPIEKET ) AT (DOWNZEIERT[E)) #RBIRE,
B 1K 0 i B 18] AT 3k200%0, RS 1R o (8] BRAY 8] B4R I E AR 2 B9 £ Tt (UPKE KR IE])D
FTFE (DOWNGEFRRTE)) $ZBIRE, [BERATERKFTIAI997 4, HEAH0 15, BE
RO Eh. BHENRER, B—ORRE, BB, BRERBRAM, RBTUAME, FA
BREARERTKERRFE Man)RER, BREN.

;.iidﬁﬁﬂ%ERP#ﬁ%E’f, RRENTRE, REEAEER, Z—T Man)iZf, HK
&

3. Yih R ERERORT, RoNHEB R B, MAGHEIANHBRRE.

4 3ME Man) BBAH LMK, T-—EHHE.
(AIRBEEAFTEEMEREBFR)

1.Fuel supply time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the right side of the control panel, which
can reach up to 200 seconds, with the precision of 1 second. Intermittent
time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the left side of the control panel, which can
reach up to 999 minutes, with the precision of 0.1 minute. When setting
the time, the beat numberis 1 if you press the button once. The beat
number can be accelerated if you hold down the button. All the settings
will take effect immediately after the setting is completed or after the Man
button is pressed.

2.When the oil pump shows the EPR alarm, it indicates that the pressure
is insufficient. If the the pressure is normal, press the Man button to
eliminate the alarm.

3.When the oil pump shows the ERO alarm, the oil quantity is insufficient,
and the alarm will be automatically eliminated after refueling .

4.Holding down the Man button is manual test.

(specific lubrication plan can be customized)

118 &% &L =t TAEMR
rest time control button  manual button ~ work time control button

15



e MIRANS
MR-2202 (4L)

Oil Lubrication Pump Controlled by PLC Type

K BMIRAN

EGH =

?3'27k = 5é?ﬂlTechnical Parameters

; = — 15 A Sk B
o . B E B R . 5 BEEN RAED 5 it & - N
Mgc%;:l E\E'/cjail‘tzﬁf RN Plgvir CurEEe;r}T“i(A) Rzl gl Ma; pressure V(ﬁuﬁe Dl rz:tseuc:e Re%\larks
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cmz
MR-2202-400TA so%g\l-/lz
Mgzzoﬂk‘i‘%
E110V
220V 150~200 .
MR-2202-400XA | 5% ous 2400 18W 0.12 18 35 4L CC/min 30-1000 MR.2202(% %
220V B E220V
MR-2202-410XA 50/60HZ
*BEHFTHTIAN, TXHERK, FARSRE,
*Mode name with "T" is resistant, mode name with “X” is volumetric,mode name with “A” is shade—-pole motor
&b . 4
4 B 5 4%F I Performance Characteristics
1. {36k 0 i8] 8% B 1] [] 3 AL BB i 4% I i R | = . |

2 AR EH2, 3. 4%, tHE150~200CC/min, B EIAMITMBMNTHRE, HHELEN, 4%, REMMH.
SCHRBEEAEAEANE (—MNEAERE, —NMEER) ‘
AFARBEEPERENERERE MA | J

(IRBEEFEEEMETRARTAR) -l ‘
Pressure Relief Valve [l J [ —» w

1.0il supply and intermittent time are adjustable by PC controller.

2.With the out of oil 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. Pressure Regulating Valve 1 Ff {f§] —— Bl
There are oil level gauge and automatic oil control device on the oil tank. -
The red light is on when the oil quantity is insufficient, which reminds you to fill it up.

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4 .Metal oil tank can be customized.
(specific lubrication plan can be customized)

The control panel 2% Bl The wiring diagram
24VIRE fTwarnning lamp

[SERIES
B iR 1R R AT / B $5 75 4] manual button power LED

A\ g ®
5K &7 MIRAN L
) ) d 220V
J ] RALIRELT |
oil level warpning lamp
i R
ALARM PS|Z[FS[2 oo
HG| %2 R
H 3 -
SHENZHEN MIRAN TECHNOLOGY CO.,LTD 1 f ? 9 Z ? ﬂ £ ﬁ H ol Hig
5 = H 3R
zero line = g s
o o PLC
TEERIT REETIT o . . PLC
WORK ALARM AC220V * LB RAREAAERZI AC220V
N Wire Connection can be Customized gk

16



MR-2232 (4L)

#5 JH B T 5

el MIRAN®

78 7 3R fndl B Fix Y

Self-control electric oil lubrication pump

212-
T Q
® ®
[ 1N =
_nn % =
][ [ [ |
g
- —F AN e

?3'27|T = 5é?ﬂlTechnical Parameters

- = - FARAL B
- | mmse - : BEEN BAEN | « g | BRI .
Mﬂfl E\E/}:E%K Rated ritary Pljjfr c rErEﬁEtA Rated pressure Ma;pressure Vﬁ‘*ﬁ] Discharge rRatec: R%;\Erk
Tel3 CUEEL Speed owe L) kgf/cm? kgf/cm? olume capacity ml/min ka?/SCL:n? emarks
220V
MR-2232-400TAB 50760HZ
MR-2231% %
220V 150~200 BE110V
MR-2232-400XAB 50760H2 2400 18W 0.12 18 35 4L CC/min 30-1000 MR.2232(% %
B E220V
220V
MR-2232-410XAB 50760H7

HEHFTHWMN, TXARER, FARSREBH,
*Mode name with "T" is resistant, mode name with “X” is volumetric,mode name with “A” is shade-pole motor

& A 75 ;AMethod ofuse

1. TAERHE] : FKIRSETHE, M FEWEIET, WIFSETE, RAVEIEENMIK IR TSETE, RAVEREHMNE; BIRT
SET#E, — TNSETHEREB L (1-999F) .

2. (B BRATE: IBKIZSETH#E, WB—1MERFHRFEMRSIAT, WMASETE, RBAVELENIY; R—TSETE, FRIREA
V29280, BEATEI AT 3 RP AR (1-999351-9997)
3.RST # IRIFUBIEMEBRBEREERE.

4 BHEBBEZBRERER TABRES, FHi#EALUB,
BB A LUBR AT =, BIEETABINTLA =,

5. ERO NIRRT FHEARE, ERPINIFRRKRENESE.

6. WERIEMNZBHEBEITIZINGE, ITHDMFR—FHNEEITIZ.
KA PMFFR=, BEIBIZEL.

THEEAEERED G-, UREBITEEREFHEER
EEHERERE.

(AIRBEEFEECHETREBEAR)

5K BR MIRAN®
ol &
LUB.(sec)

INTEER, oo

SHENZHEN MIRAN TECHNOLOGY CO.,LTD

1.Working time: press and hold the SET button, release it when the numbers jump, then press A V¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).

2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green lightis
on, the right INT red lightis on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.

6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.

(The lubrication program Can be customized according to customers’ requirements)

17



el MIRAN®
MRG-3202(3L) 3 G 5 37 — 8178 3 JRPL O

Automatic Grease and Thin Oil Lubrication Pump with PLC Type

b IR, LI

1 y I I

?§Z7k 735 iSZTechnicaI Parameters

260

. BREN it i & b
BE BERE | gt E |y B | Ratdoediye | Max. | &M@ | Discharge | EMBEE &5
Model Voltage Speed Power | Current(A) bl pressure |Volume capacity Yatienn Remarks
P 9 kgf/cm ml/min 9
220V
MRG-3202-300T 50/60HZ MRG-3201# %
200~300 BE110V
220V ~ S~ 00 45 S
MRG-3202-300X 50/60HZ 1350 25W 0.22 20 35 3L CC/min 30#H M 00HEBE | \\RG.32026k %
220V B E220V
MRG-3202-310X 50/60HZ
HISHTRRIR, SXAFTRX, TH A" AFLBE
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor
/N2 . .
T g€ 5 %F miPerformance characteristics
1. 4 5k Fn () 8% At 18] [B] = 4] BB AR 4R 1% B . —
2 AR EM2, 3. 475, 1t E200~300CC/min, AABEIANITHMEMNITHRE, HHEFEN, 4%, REMHK. —r TJ
3.5&1%‘22@@1&@’(‘@ (—MNRER, —NEER) |
LARBEFEREHETBEE 0 B’
(IREBEEFEEEHMERERAR) " i
1.0il supply and intermittent time are adjustable by PC controller. Pressure Relief Valve ] [ [ — M
2.With the out of oil 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. Pressure Regulating Valve g [ [1f] — Bl
There are oil level gauge and automatic oil control device on the oil tank.
The oil quantity is insufficient when the red light is on, which reminds you to fill it up. -

3.There are two valves in the oil pump, pressure regulating valve and unloading valve.
4.Metal oil tank can be customized.
(specific lubrication plan can be customized)

1% 2% B The wiring diagram

24VIRE fTwarnning lamp T

/ B jF 5 7~ kT manual button power LED
DK
|

R E AT

5K BF MIRAN®

O O

220V
TR AR E KT

oil level war|

A o HISE HEAE
POWER ALARM @ ) @ =
o000 |0 g 3 2
11213]415 AR 153]4]5 ikl
SHENZHEN MIRAN TECHNOLOGY CO.,LTD (AK AKX AN EiRulEs ole S
3 zero line = LEEEEJ [s! =
L 3 [~ zeroline =
L % L lL R
PLC T
— _ PLC
TEERIT REETIT AC220V AC220V * %S RARIERA SR
WORK ALARM K& P&z Wire Gonnction can be Customized

18



e MIRANS
MRG-3232 (3L)

Self-control Grease and Thin Oil Lubrication Pump

1563.5

7 AR & #Technical Parameters

. - RAEN it & b
= . T E o 5 E E S = o : 165 PR SE 5 FE 3
I 4 : 2 7% s 3
Bs HESE | Rated ritary Ih I Rated pressure LA =R szl Rated pressure T
Model Voltage Power [ Current(A) pressure |Volume capacity ; Remarks
Speed kgf/cm? > f kgf/cm
kgf/cm ml/min
220V
MRG-3232-300T8 | <o MRG-3231
200~300 KRBETI0V
220V ~ She 00 A
MRG-3232-300XB 50/60HZ 1350 25W 0.22 20 35 3L CC/min 30##5 B~00#3H iF MRG-3232
220V KFBE220V
MRG-3232-310XB 50/60HZ

*BISHTHMIN, TXAEFRNX, TH A" AFLE
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

= H E R E etup Diagram on Control Panel 4 8 5 45 = Performance Characteristics
1. 70 5 B 8] B 4 ) E AR A A B A (UPREK BT E]) F1RFE (DOWNZE%E
BiE]) $ZRIRE, SICMMmATE R X200%, HEHT #. B8 E
HREFERAZMN LA (UPKETE) FI TR (DOWNAFEERTE]) 2
WE, BEEE&KAIIA997 %, BE R0 158, B E®ERE—
P 0 IR, BERhEOA, BRERBEFAK, RITUAME, FEREERTE
-“'-“ TRESHLRER Man) BEE, BZEN.

(0.1-999) 2. ¥R B RERPIR ZAT, iET}_jPFE, WEEHEER, Bik—
T (Man) &%, HBRRZE.
3. MR EREROR, /RIRHEAE, MHEFENEHBRIRE

200
4.321F (Man) BREABA =W

DO : DO (TREEFEEEHMERDESFR)

1.Fuel supply time is set by the UP button(extending the time) and
DOWN button(shortening the time) on the right side of the control
panel, which can reach up to 200 seconds, with the precision of 1
second. Intermittent time is set by the UP button(extending the time)
and DOWN button(shortening the time) on the left side of the control
panel, which can reach up to 999 minutes, with the precision of 0.1
minute. When setting the time, the beat numberis 1 if you press the
button once. The beat number can be accelerated if you hold down the
DOWN DOWN button. All the settings will take effect immediately after the setting is
completed or after the Man button is pressed.

2.When the oil pump shows the EPR alarm, itindicates that the
pressure is insufficient. If the the pressure is normal, press the Man
button to eliminate the alarm.

8] &% 10 A R TR . . .
resttime control button  manual button  work time control button _3.Wh<_en_ the oil pump shows t_he ERO alarn_'\, the 0|_I q_uantlty is
insufficient, and the alarm will be automatically eliminated after
refueling.

4.Holding down the Man button is dynamic test.
(specific lubrication plan can be customized)

19



e MIRANS
MRG-2202 (4L)

3 *}l Automatic Grease and Thin Oil Lubrication Pump with PLC Type
-

5D F

Asynchronous motor

K BMIRAN

EGH =

b=

¥ 7R & #Technical Parameters
. — = {5 R i 4 FE
e mERE | g BERE | 5% HE BAEA | ap i Rated &
Model Voltage REMSE ] Power | Current(A) iz piEsnin | bt drzeaLie Volume Uizt ressure Remarks
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cm2
220V
MRG-2202-400T | ,renl MRG-
2201 %
BE110V
220V 200~300 [,
MRG-2202-400X 50/60HZ 1350 25W 0.22 20 40 4L CC/min 30# SH~00#H Bg VRG.
%2021{«%
220V E220V
MRG-2202-410X 50/60HZ
*HBSHTHMIN, TXAEFRX, THE A" RFLEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor
- 2 .
4 8 5 4F s Performance characteristics
1. A S Fn i) Bk Bt (8] [] 3 4L BB R 4R 118 2 _
2 MR EM2, 3. 47, R E8200-300CC/min, MAFEMAMMITMENEREE, HHETEN, A%, REMH. E_ _lg
SCHMREEARANE (—MEER, —NEER) |
ATRBEAEREHEBL B M. —
(TRBEAREZHERARAZ) !
1.0il supply and intermittent time are adjustable by PC controller. Pressure Relief Valve ﬁpEHﬂ—} w
2.With the qut of 0il 200~300CC/min, t.he Qil tank capagity has 2, 3.and 4 litre, etc. Pressure Regulating Valve i [ [ — ﬁu
There are oil level gauge and automatic oil control device on the oil tank. .
The red light is on when the oil quantity is insufficient, which reminds you to fill it up. -

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.
(specific lubrication plan can be customized)

The control panel % EThe wiring diagram
24VIRE Twarnning lamp

RETFE R
R IERAT / B jE 35 55 kT manual button power LED

DK
o /f

5K BF MIRAN®

220V

S

AL IR E KT
oil level war| AMp
iR HEEE
ALARM w8 % |—] =t
o o000 0 00 Sslgle al= 2
12/3/4/5/6(78] |%3%2 HEIH) s
SHENZHEN MIRAN TECHNOLOGY CO.,LTD ® 9 0 0 0 0 0o o H K|S E £
y &zeroline = L AL RN ., 8 5
|_ L o LIL, % Zerolin S
_ PLC PLC T
TAEERAT HREIRTAT AC220V * e XA IRIE A P KR AC220V
WORK ALARM N Wire Connection can be Customized s

20



A B MIRAN®
MRG-2232 (4L) i 5 — 125 37 3 R A A

3 1;)1 Self-control Grease and Thin Oil Lubrication Pump
—

5+ 20 F

Asynchronous motor

]
®

ED =
0
O

=

3 AR £ #Technical Parameters
. - — 158 F S A B
o - R ~ 5 BEEN BREN o it = = s
Vodel | Voitage | Ratedritary | S0 | o ki(a) | Retedpressure | Maxpressure |\ SEL | Discharge | 2L | o B
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cmz
220V ;
MRG-2232-400TB | g~ 22?1?&%5&
E110V
MRG-2232-400xB | 220V 1350 25W 0.22 20 40 4L 2987300 SORBHCOOBE | G
2232k T H
E220V
220V
MRG-2232-410XB 50/60HZ

HMUSHETHRMR, TXAZTRK, FTHEF A ARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

& BB /5 7£Method

1. TYERTIE : EKIRSETH, MM TEMAET, MTFSETHE, RAVEBEMIM B TRETE, RAVEEEHLY,; BRT

SETH, — TSETH R EBME(1-999%) .

2 BT E]: ERIESETR, MBE— AR RRUTERNA, MIFSETHR, REAVERIZEMIY, B— TSETHR, FAIZEA
V29280, BIERTEIRI 3 #bAL IR (1-999331-9997%) .
3.RST RIZMEHBAEIDBRAERDERE. KB MIRAN®

A B EEEEEERGRTAMIKS, H#EALUB, INTER, oR: 2 o R
A £ SALUBR KT, (BB AINTA AT E.

5.ERO KGRI R EHBRE, ERPIVIERKREEHESE.

6. 8 B AHIERIR BRTRITIZINEE, T NTFE— HEARRIZIZ.
EHNFFE=, BEIRIZIEL.

7 MBENSEREHDE-, TRESTESEREFHEES

‘%i‘ﬁﬁiﬁgﬁﬁ o SHENZHEN MIRAN TECHNOLOGY CO. LTD
(IRBEEFEEEBMERBBAR)

1.Working time: press and hold the SET button, release it when the numbers jump, then press A V¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).

2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green lightis
on, the right INT red lightis on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.

6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.

(The lubrication program Can be customized according to customers’ requirements)

21



» A ®
KB MIRAN
8 B #% 3 — {4 5 78 H ZRPLCRY

Self-control Grease and Thin Oil Lubrication Pump with PLC Type

MRG-3202(5L)

288.50
239.00

175.00

i
[
cf
[

7 K & #Technical Parameters

. =& NEW)| it i 2 p
- . | mEms - . gmEEn | PaEN : £ PR st s :
s LR ER Rated ritary I3 HI Rated pressure ke =R Dlisfelia g Rated pres;Jre Lk
Model Voltage Speed Power | Current(A) [t pressure |Volume capacity [t e Remarks
9 kgf/cm? ml/min 9
220V
MRG-3202-500T 50/60HZ MRG-3201 K &
220V 200~300 BE110V
MRG-3202-500X 50/60HZ 1350 25W 0.22 20 35 5L CC/min 30#H5 H~00#3H A5 MRG-32024% %
B E220V
220V
MRG-3202-510X 50/60HZ

HSHETHRMR, TXAZTRK, FTHEAARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

MEES '—1%? B Performance Characteristics

1. {3k 5ok A0 ) Bk Bt 1] ) 2 AL B A IR

2. A 82, 3. 47t%F, AL E200-300CC/min, HEFBMMMITMBHNEHEE, HHEREN, A=, REMHE.
SHREBEAERAMNME (—MEER, —NEERD

AARBEEAREREFNERERE M.

(TRERFFEEBMERABAR)

c—
g

1.0il supply and intermittent time are adjustable by PC controller.
2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc.
There are oil level gauge and automatic oil control device on the oil tank.

The red lightis on when the oil quantity is insufficient, which reminds you to fill it up.

Pressure Relief Valve ] [E {§] —» M

Pressure Regulating Valve 'LEJE |1ﬂ—} ﬁu

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.
(specific lubrication plan can be customized)

$E 2% B The wiring diagram

=R
&E&i}ﬁ#‘g;}ﬂ manual button power LED

24VIRE fTwarnning lamp

R iR 3R TR AT

5K BF MIRAN®

)

) 4 220V
J ] J AL AR AT
~2H /foillevel war amp
EE:;\[% o (=}
EESE
POWER =] ‘5 § l_ I_I g %
o/eojo 0|00 35 o) Ty a 2
1] c
3|4/5/6/7|8 Hle|¥E b : 3l o
SHENZHEN MIRAN TECHNOLOGY CO.,LTD o000 |0 0 Ll S 112/3]4|5/6 2 z
zero line = 9iojejejeje i 5
. lL, ‘ Zero Tne s
i LD g
TAEETT REIETT AC220V e RATRERABRE | O|Ac220v
WORK ALARM Nk Wire Connection can be Customized 1 g5

22



MRG-3232(5L)

el MIRAN®

H B 75 76 — 1A 31 7 e 3R 1 e B B

Self-control Grease and Thin Oil Lubrication Pump

288.50 175.00
o — B — 239.00
A=
]
oy (R
—olL U~ ’
- i J ] T
1 7R 2 i Technical Parameters
: - RAEN = s
= R4 R o 5 HEED = = Rt 155 PR Seh G S
J 4 5 b 74 7% PN §
Mgcl__)gal E\E/c}ftzﬁf Rated ritary PIéJwKer CurErEequ’i(A) Rated pressure rév'sas)l(ne Vflu;ie Discharge Rated pressure Reﬁlairks
9 Speed kgf/cm? pkgf/cm’ capacity ml/min kgf/cm?
220V
MRG-3232-500TB 50/60HZ MRG-2231%
FEBE110V
220V 200~300 N o B
MRG-3232-500XB | g0t 1350 25W 0.22 20 35 5L CC/min S0#HH~00#HEE | \1nG 232t
FEBE220V
220V
MRG-3232-510XB 50/60HZ

HSHETHRMR, TXAZTRK, FTHEAARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

£ A 73 7AMethod

1. TAERTE: KIRSETH, W “jHB” ETEHRFERNE, MIFSETHE, RAVEREMIH R TSETH, RAVEREL

¥ ; BIRTSETHE, RAVEEETHEME(1-999F),

2. B EREYE) : KIRSETH, W “BE&K” ERFHRFERNET, MIFSETH,
RAVREEEMIK; RTSETH, RAVREEETH; BIRTSETHE,

RAVEGEEBMEYE; FITRGEA VL2580, BEXRTE R o2/F 4 (1-9997 31-999F) ;

WA ES R : FEERA VEL2E, [BE8RESE A 5/ MR (1-99953H1-999/M B .
3.RSTH, R—TIHBAEHABFHERFTERERES.

4 BHERBRZEBERRGERE THRIBIRE, FHiFHALUB,
8] BX BT A IBINTLI K] = o

5. ERO AR FRMET B, ERPINIRFRIRKENFE.
6. WEBHIERRBERICIZINGE, HFNFR—FHANBHEIRRIZ. XANFX=, BBRIEIZFEL.

THEEANREREGE=, TREBTSE
(AREBEEFTEEMERABFTR)

, REFHEEREFHERE

INTHEER, f#ImEZIALUBER KT =,

REE.

3K BA MIRAN®
& off

(sec)

-

NT.(nin)

SHENZHEN MIRAN TECHNOLOGY CO.,LTD

1.Working time: press and hold the SET button, release it when the numbers jump, then press A ¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).
2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is

on, theright INT red light is on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.
6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.
7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.
(The lubrication program Can be customized according to customers’ requirements)

23




el MIRAN®

H B #% 7 — {4 B8 3 JE 7 7 2R i PLCAY

Self-control Grease and Thin Oil Lubrication Pump with PLC Type

MRG-3205(5L)

175.00

19 A

7 K & #Technical Parameters

. . BRAED nt i 8 bk
) M 57 Ragfeicfrgigry I % HLR RatséﬁdEpEsjgure kS B DlISEElEe Rgeﬁg ﬁiﬁﬁ e Gkid
Model Voltage Speed Power | Current(A) et pressure |Volume capacity raiiEt Remarks
9 kgf/cm? ml/min 9
MRG-3205-500T
MRG-3205-500X | DC 24V 1800 40w 3.2 20 35 5L 20073001 30 ~00#5H B
MRG-3205-510X

B SHTARMR, TXARTRK, THA"AZLEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

™ BE 5 4F mPerformance Characteristics

1. {3k 5ok 0 ) B B (5] 8] 3 A1 B A 1 IR R
;i‘j
L_Jf‘.i

2 A RM2, 3. 47H%, MLHH2200-300CC/min, HAEFEMAMITMAENITHEE, SHETEN, 4%, REMH.
Pressure Relief Valve [ [% [if] —» w
Pressure Regulating Valve ijﬁ E Hﬂ —p m

SMREEARANE (—MEER, —NEERD
AMREBEEAEREFNEREE M.
(AIREBEZEFAFEEBERERAR)

1.0il supply and intermittent time are adjustable by PC controller.

2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc.
There are oil level gauge and automatic oil control device on the oil tank.

The red lightis on when the oil quantity is insufficient, which reminds you to fill it up.
3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3)
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

¥ 2% B The wiring diagram

24ViRE fTwarnning lamp

R iR 1R R AT

)
L)

REFFE
B jF #5 7 k] manual button power LED

5K B7 MIRAN®

A 220V
R IR & AT

oil level warpning lamp

O O

o HEE ori—ho
POWER e gl &2
3By A=
gIHE 8| H|e2
SHENZHEN MIRAN TECHNOLOGY CO.,LTD 3 s g M| F
=2 § S
TEETAT REETIT AC220V * S RATRERAERIZH
WORK ALARM V&3 Wire Connection can be Customized

24



el MIRAN®

H B #%5 7 — 1A BB B 7 78 O 2R Tl FE A B

Self-control Grease and Thin Oil Lubrication Pump

MRG-3235(5L)

175.00

7 AR & #Technical Parameters

. . RAED = SHE
Model Voltage ated ritary Power | Current(A) Frizdplessie pressure |Volume 2zl Rl gz Remarks
Speed kgf/cm? kgf/cm® capacity ml/min kgf/cm?
MRG-3235-500TB
MRG-3235-500XB | DC 24V 1800 40w 3.2 20 35 5L 200300 | sosm o0
MRG-3235-510XB

HISHETHRRR, TXAZTHRK, FTHE A ARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

1. TAERTIE) . KIRSETHR, U “HB” RnRMTEDE, MITSETH, RAVREE MM IR TFETR, RAVEEES
% ; BIRTSETER, A VEEEELRK(1-9998).

2 [EEETIE): KIESETE, T “HE” BRRETEMEE, MIFSETE, K B9 MIRAN®
HAVEIZEMI%; HTSETE, HAVEREHIY; HIRTSETE, i o R
HAVEEEEMY; FAREA VAR, B8 ET S/ (1-999551-999%) ;
LA EH G : FIAZA VEA25, B 8EET 5/ MR (1-9999 51-999/0 ) .

3.RSTH, B—TUBIEHHBXNBEREEREES.
4 BERBREBRERGERTHRIMRA, FHEANLUB. INTIEIR, #HABAIBLUBEIT =, @ G 0 @
B ERET A INTLA AT = SHENZHEN MIRAN TECHNOLOGY CO.,LTD

5.ERO AKX FTHERE, ERPAEFRIKKRENFE.
6. HERIENZBRIBEICIZINGE, FTHPFX—HNEEIZIZ. XFNMFX=, WEILIZEL.
THREEAEERES G-, TRBEBITEE, REFNEOERTEMNERERE.
(TRBEZEFEEEHEREARTAR)

1.Working time: press and hold the SET button, release it when the numbers jump, then press A ¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).

2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4.After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, theright INT red lightis on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.

6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.

(The lubrication program Can be customized according to customers’ requirements)

25




MRG-5202(3L)

%

7K & #Technical Parameters

» \ ®
A B MIRAN
JH AE #% 7 — 1A i il SRPLCEY

Automatic Grease and Thin Oil Lubrication Pump with PLC Type

213
167

Il

280

. = — 15 A Sk B
o e BE R = 5 BMEESD BRAEN 50 it E - s
Mﬂ;;:_'l E\E/J:E%’E Rated ritary ng c EE”'Z:'E A) | Rated pressure Ma)y(L pressure V‘?*’q Discharge e R ﬁ’ik
OCE BEESS Speed ower U B kgf/cm? kgf/cm? olume capacity ml/min p;g?/il#]? emarks
220V
MRG-5202-300T . MRG-
50/60HZ g%\(/ 520218 K
220V 60W:0.45 300~500 | E220V
MRG-5202-300X 5076017 2800 0w 90W:0.32 20 50 3L CC/min 30#Hs H~00#;H A VRG.
220V 380\) 5203 R H
E380V
MRG-5202-310X 50/60HZ

S HETAMMARN,

HXABRNX, TF" A" ARESHN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

™ B8 5 4F mPerformance Characteristics

1. (e m00#mAs, Z1EFERO#KKIMAS.

o O~ WN

(IRBEREFEEEMERABTAR)

1. Using new thin oil or 00 # grease, prohibit to use 0 # and concentrated grease.

BEERIBH, SNESEMBKER, IWMTHER, FIWHREIT.
CERTHEAR, MEXREEXEHNEREERLEH.
BETmED, URBIAEL,
KWRRLENRES—NMAERE, AAEED.
HARBEPEREFNEREREMME

2. ltis forbidden to use old oil, otherwise it will cause oil road blockage, mechanical parts wear and affect the operation of the

oil pump.

3. Suitable for resistive, pressurized or progressive butter dispensers.
4. Do not start without oil so as not to damage the motor.
5. The suspension seat on the gear pump has a pressure regulator body to adjust the pressure.

6. Metal tanks can be customized according to customer needs.

(The lubrication program Can be customized)

26




MRG-5202-41 (4L)

TERLEEBE, MERASKE,
BH6L, 8L, 10LZ XA,

The picture showed as below is metal tank with 4L,
the material is iran ans aluminium, it has 6L,8L and 10L can be choosen.

M AR )

el MIRAN®

— {45 /& i SRPLCEY

Self-control Grease and Thin Oil Lubrication Pump with PLC Type

b

I\l\l\l\
I

()
\

(o

0|

(o

7 AR & #Technical Parameters

s . = = {5 P i P2
Model Voltage Rated ritary Power | Current(A) IR PIESSUT | [ pressuie Volume DSl ressure Remarks
9 Speed kgf/cm? kgf/cm? capacity ml/min pkgf/cm 2
220V
MRG-5202-4100T 50/60HZ 60W: MRG- 5202
220V e
220V 60W:0.45 300~500 o
MRG-5202-4100X 50/60HZ 2800 90w 90W:-0.32 20 60 4L CC/min 304%5 il~004#5H g MRG.5203
) KEBE
MRG-5202-4110X | 220V 380V 380V
B . 50/60HZ

SHTARRR, TXAZTRK, FHEFA"ARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

MEES ﬁ B Performance Characteristics

1. 43k 5eh 0 ) B B (8] =) 5 A BB A 1 IR

2. A 82, 3. 47t%F, ALHE300~500CC/min, HEEEM BT MBEEMEKE, SHETEN, A%, REMH. L |
SCHMEREEARANE (—MEEMR, —NEER . |

4 AIIRBEAERENERERB M.
(IRERFETEERERABALR)

1.0il supply and intermittent time are adjustable by PC controller.

2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc.
There are oil level gauge and automatic oil control device on the oil tank.

The oil quantity is insufficient when the red light is on, which reminds you to fill it up.
3.There are two valves in the oil pump, pressure regulating valve and unloading valve.
4.Metal oil tank can be customized.

(specific lubrication plan can be customized)

Pressure Relief Valve ] [ [{§] —» M
Pressure Regulating Valve -‘LH E HE' o ﬂ

% 2% B The wiring diagram

24ViRE KTwarnning lamp

1@ P s
R IE AT / BB 5 77 k] manual button power LED
\Y - ‘® D
7}< ER MIRAN ) ) 1.| 220V
j ] ] TRATIRE LT
/oil level war, amp
P.s|S 2
EEIR I FF] (g,, 5 I_I B o
e 0/ 0|0 0 0 o N @ } @ 2
2345678 (%% ’| . s
9o/0/ojo|0/0 e NAETRYE 112(3|4|5/|6 o T E
SHENZHEN MIRAN TECHNOLOGY CO.,LTD i S = o|olole]o0 g g
L’ i zeroline L’ ‘ Zeroine S =
N LU
LC
TARIERIT REERT AC220V * g R AREA P ERR T AC220V
WORK ALARM N Wire Connection can be Customized g%

27



KB AMIRANT
MRG-5232-41 (4L) Se e 9 e — £ 50 7 5 2 g e A B

TENLEBHE, HERERE, Self-controlled Grease and Thin Oil Lubrication Pump
FH6L. 8L, 10LZERIAAIE,

The picture showed as below is metal tank with 4L,
the material is iran ans aluminium, it has 6L,8L and 10L can be choosen.

311
9 170,
o
1] r qu@ .
- L
e | 1ece
N : -
) &
L o - o 5 |

7 AR & #Technical Parameters

- e | mEmE : : HEES BAES | 8 et :
Mgg(?_el %ﬁzﬁéf Rated ritary Plgvir CurErEeIE\E”i(A) Rated pressure | Max pressure V(ﬁuie Discharge eré:tseu(:e Re%nlairks
Speed kgf/cm? kgf/cm? capacity ml/min kgf/cm®
220V
MRG-5232-4100TB | g et 60W: MRG-5232
220V 12’62?\/%}5
220V 60W:0.45 300~500 o (s
MRG-5232-4100XB | g feol, 2800 gow: |90W:0.32 20 50 4L CC/min 30 h~00#3h B MRG.5233
: REBE
MRG-5232-4110XB 220v 380v 380V
B B 50/60HZ

HMUSHETHRMR, TXAZTRK, FTHEF A ARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

£ A /5% Methods

| TR EKIESETEE MM ERKENAT, MTTSETH, 1RA V@R MM ROETR, HA V@B E RN,
HIRTSETE, —TSETEIREBMEB(1-999F) .

2 EEE: EKIESETR, ME— 1B rRET RN, WIFSETR, REAVREEMIN, R—TSETE,
Rtz AVL25, EETIET SIS (1-9995H1-999%) .

3.RST @ MR TENIER BB R ERE. g "

4 B I RGE T AR, EALUB,  INTIER, Rl
e A DLUBR TR, [ ERET A shINTA AT S,

5.ERO (IR LR B R R, ERPIGIRET R EE M.

6. % B R IEMIE B R ITIZINEE, 3T NI BB R .
LN, BTz EL.

7 HMEEARERBETE-, TRESFEEREGHEE
EE TR E R,

(EJ—*‘E*EEF %%iﬁﬁ%%jl‘ﬂiﬁ‘ﬁ%) SHENZHEN MIRAN TECHNOLOGY CO.,LTD

©) ;LI?JB_(SZE) O IE;JIT.(m%)

1.Working time: press and hold the SET button, release it when the numbers jump, then press A ¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A ¥ ; press SET to hundreds digit(1~999 seconds).

2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V¥ to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4 .After the circuit power is turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is
on, the right INT red light is on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.

6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.

7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.

(The lubrication program Can be customized)

28



MRG-5232(5L)

MRS #)

el MIRAN®

— & iEE

H 3R 18 B fix 2

Automatic Grease and Thin Oil Lubrication Pump

175.00

A
=

7 AR & #Technical Parameters

. . BREN = S
Mggcil %Etiﬁ? R:feid%igry Plc?ﬁr Cur?eir}ﬁ(A) RatgeﬁdEpEsj;ure rglzlsiﬁ i@ Vcﬁuie Di&hﬁa;!;e RESFE ﬁi‘is,%re Re%\?rks
9 Speed kgf/cm?® pkgf/cm2 capacity ml/min kgf/cm?
MRG-5232-500TB . MRG-
oo
60W: 220V 60W: 0.45 300~500 e e -
MRG-5232-500XB | g0 2200 2800 oW 90W.: 0. 32 20 50 5L CC/min 30#%%5 H~00#3H Ag VRG.
p 5232fK &
MRG-5232-510XB 380V H [E 220V
ISHTHIMI R, FXAERNX, THE A" RFLEN

*Mode name with "T"

is resistant, mode name with “X”is volumetric,without Ais asynchronous motor

£ A /5 ;£Method

ETRHUFERINE, NIFSETHE, RAVERENMIB L TSETHE, HAVREEEL

1. TYERTIE) : KIRSETHE, W “JHBE”
L ; BIRTSETH, RAVEEEEMNHE(1-999F) .

2. [BIERETE]: KIRSETHE, W “HE&K” ERERFERINE, WFFSETH,
RAVEZENIY; WTSETH, RAVRIREHMH; FRTSETE,

ZAVREEERMYE; FIRZEA VL2,

WA ESI A : FRTIRA V24928,
3.RSTHE, &— Tltl:’fﬁ‘IE%?lﬂ BEE

4 BERERIZEBERRET
5] Bk Bt B INTLLAT = o

Iﬂa'{k'u; #i&)\LUB\

8] &%

18] 8RB (8] A] 43/ #b 5 R (1-9994 51 -999F%) ;
B 1E) BT 43/ /N Bt B 4R (1-99943 8 1-999/\At) o

RERERERES.

5. ERO NKRRHKFRMETRE, ERPAIEFRRRENRFE
6. WEBHIERRBHRIZIZINGE, HHANFR—HANBHBIRIZ. XHANFX=, BERIZIZEFL

7T HBEMRFRENNES, AREBTH

(AIRBEEFEEEMERBBAR)

, REFHEGEZ

INTHEER,

R ABLUBR AT =,

SRR ERRE.

%%mmv

O LUB. (sec)

OI‘—IIIT(m

e

@60@

SHENZHEN MIRAN TECHNOLOGY CO.,LTD

1.Working time: press and hold the SET button, release it when the numbers jump, then press A ¥ to set unit digit; and press the button of SET again, to set ten
digit with pressing A V; press SET to hundreds digit(1~999 seconds).
2.Interval time: press and hold the SET button, release it when the numbers in other Display screen jump, then press A V to set unit digit; and press the button of
SET for two seconds, the interval time can shift between minutes and second(1~999 minutes or 1~999 seconds).

3.RST: Press and hold this key to relubricate or clear the abnormal alarm.

4 After the circuit poweris turned on, the system belongs to the oil supply state, and enters the LUB, INT cycle. When the fuel is supply , the left LUB green light is

on, the right INT red lightis on when the system is on rest.

5.When the ERO flashes, it means that the amount of oil is insufficient, and when the ERP flashes, it means that the pressure is abnormal.
6.There is no power-off memory function in the digital display box, and a small switch is turned on to enter the power-off memory. Turn off the small switch, and the
power off memory stops.
7.There is a key lock function in the digital display box. You can lock the set button after setting the time according to your needs.
(The lubrication program Can be customized according to customers’ requirements)

30




» A ®
KB MIRAN
8 B #% 3 — {4 5 78 H ZRPLCRY

Self-control Grease and Thin Oil Lubrication Pump with PLC Type

MRG-5202(5L)

288.50
239.00

175.00

—olL  u— ) et

?3'27k 3 5é?ﬂZTechnical Parameters

. mAE N it 2 p
- - | mmwE " . gEEn | BNEN | : £ R s .
s LRTER Rated ritary I3 HI Rated pressure ke =] DIisfeliE g Rated pres;Jre &
Model Voltage Speed Power | Current(A) [ pressure |Volume capacity Kkgf/cm? Remarks
9 kgf/cm? ml/min 9
220V
MRG-5202-500T 50/60HZ oW RG.5208
220V | sow: 0.45 300~500 feamEssoy
MRG-5202-500X | 220N 2800 oW, 0% 20 50 5L oo 3047 H~00#H B MRG-5202
ggg(/ R E220V
220V
MRG-5202-510X 50/60HZ

HSHETHRMR, TXAZTRK, FTHEAARSEN
*Mode name with "T" is resistant, mode name with “X” is volumetric,without Ais asynchronous motor

M ge = Lﬁ B Performance Characteristics

1. 43k 5ok A0 8] B B 1] =) = A1 B A 1 IR

2. A 22, 3. 47t%F, ALHE300~500CC/min, HEEEM BT MEEMEE, YHETEN, A%, REMMH. e
SCHMREBEARANE (= MEER, —MEEMR) . b T
ATMRERPERENERERHMA.

(IRERFAFTEEMERABAR) | J

|
1.0il supply and intermittent time are adjustable by PC controller. ) VE |
2.With the out of 0il 200~300CC/min, the oil tank capacity has 2, 3 and 4 litre, etc. Pressure Relief Valve ‘Eﬂ E"ﬂ >

There are oil level gauge and automatic oil control device on the oil tank. Pressure Regulating Vaive 1fF [ [ —— Bl

The red light is on when the oil quantity is insufficient, which reminds you to fill it up.

3.There are two valves in the oil pump, pressure regulating valve and unloading valve. (refer to figure 1-3) -

4.Metal oil tank can be customized.
(specific lubrication plan can be customized)

¥ 2% B The wiring diagram

24VHR £
REL =R S
@%iﬁ#‘éﬁtﬂ / IR IE R AT
\ = ®
7K Bf MIRAN R 220V
WRALIRE LT
@ O :
i R I H
POWER ALARM
o 00 o [ V¥V °
112/3 112(3(4|5|6
SHENZHEN MIRAN TECHNOLOGY CO.,LTD (B ] I |0 [0|0 [0 0o
L’ ’
L J T LlL ;‘g}z
PLC
PLC
TARERIT REERIT AC220V * jE S R ARIER A ERIET AC220V
WORK ALARM N4 Wiring Connection can be Customized N %k

29



e MIRANS
MRH-1202-100T

Semi-automatic Grease Lubrication Pump

—OlR H-—

AIRAY
151/ SRR

?§Z7|T 735 %ITechnical Parameters

e 77 5 Operating mode PLCIZ

AE VE I ) Max.discharge pressure | 0~100Kgf/cm?

VE I = Theoretical discharge 50ml/min

FLATL HL Motor voltage 110/ 220/380VAC

L T Motor power 40W

TEE ORE EEVEE Viscosity range Variety 000#~00#

A AR Reservoir 1/2/3/4L

IR N3] Outlet pipe ®6mm ST iz B |_° OJ
EH &4 Applicable system PR Water Level Output AC220V

% BE 5 4F mPerformance Characteristics

1. {5 581 F0 18] 8k A+ (8] [3] 3 4L B AR 5 1% € o

2 HEEREH1/2/3/4L, HHE50mI/min, MHBEE M.

S HIFHERRAXABEERNMNEBER ERBSENMIMENIGSHEREAKAE ZRTA TR S ESE
EEHEENE RS ZRERNGEREX TZETEL/BEENHCENHEENEFABTREF.

1. Oil supply and intermittent time is settled by host computer.

M Hpouring orifice

2. The fuel tank capacity is 1/2/3/4L, and the discharge amount

3
Jor—T2 |

&3
72
P Q
[tank R & By
(=1
3

is 50ml/min.The tank has an oil level gauge.

3. The electric oil pump is driven with AC power grease pump.

installing hole

B Bk A

minimum height to ground level

The grease will output unceasingly through the motor and

mechanical transmission. The pump can be used to resist

distributor which will inject grease into lubrication points.

The pump has a small volume and large output flow. Itis widely

used in the centralized lubrication system of light

butter outlet

industry/forging and pressure automation equipment.

31



MRH-1232-100TB

el MIRAN®

Automatical Grease Lubrication Pump

motor

Lk

A

Bas

junction bo:

EH Hpouring orifice

guage

EAR

pressure

©

2s
v,

B butteftank

butter outlet

L I S—

72

SR ﬁ

installing hole

BOEHEE

minimum height to ground level

£ Bz HbE R 8 xE

o
o

o
=1
o)

¥ /R & #Technical Parameters FE 2% [E] The wiring diagram

2

3

4

5

6

D

D

D

D

D

D

e 77 5 Operating mode 14 v B

AE VE I ) Max.discharge pressure | 0~100Kgf/cm? 1

VE I = Theoretical discharge 50ml/min

L HL Motor voltage 110/ 220/380VAC C @
L T Motor power 40W

TEE ORE EEVEE Viscosity range Variety 000#~00#

A AR Reservoir 1/2/3/4L

o Outlet pipe ®6mm Hh 22
EH ARG Applicable system S Ground line

&4

T4

Firing line Zero line

oo b

&AL FF 5%

Level switch

% BE 5 4F mPerformance Characteristics

1. AT E RES ERAMA LA (UPEEKAETE) FTREE (DOWNGEERTE]) &4

ML =

W E ,

B 1K 0 e B (8] A 3A200%0, #E B A1

. EEFTEBREFERAMA LA (UPEKETE) AT (DOWNGEAERTE])) RBIGE, BEEFIEHZRKAEIIDH, BE
A0 15780, BYENRERIZ—IRIRGE, BREB, BRERRTIH, RITUMERE, FEREAERETHE B Man) iz, B

2L

2. M RETRERPIRER, REENAE, REFENEERN, BIZ—T (Man)izi@, HRRE.

3. 4R EREROK, RoRHERE, MMEEIERRE.
4. 3Z1E (Man) B ARKA 250
(IR|EEAFEEMEREABRFTR)

1.Fuel supply time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the right side of the control panel, which can reach up
to 200 seconds, with the precision of 1 second. Intermittent time is set by the UP
button(extending the time) and DOWN button(shortening the time) on the left side of
the control panel, which can reach up to 999 minutes, with the precision of 0.1 minute.
When setting the time, the beat number is 1 if you press the button once. The beat
number can be accelerated if you hold down the button. All the settings will take effect
immediately after the setting is completed or after the Man button is pressed.

2.When the oil pump shows the EPR alarm, itindicates that the pressure is
insufficient. If the the pressure is normal, press the Man button to eliminate the alarm.
3.When the oil pump shows the ERO alarm, the oil quantity is insufficient, and the
alarm will be automatically eliminated after refueling.

4.Holding down the Man button is dynamic test.

(specific lubrication plan can be customized)

32

DOWN

18] &k n L

rest time control button

MAN.

RE

manual button

TEmm

work time control button



e MIRANS
MGH-1202-100T

Semi-automatic Butter Lubrication Pump

$¥ 7R £ ¥ Technical Parameters £ 2% B The wiring diagram

BAETT R Operating mode PLCE I 1 2 3
BE VE R 77 Max.discharge pressure | 0~100kgf/cm?

A = Theoretical discharge 50ml/min C :)
HLBLHL Motor voltage 110/ 220/380VAC

AL ) 28 Motor power 40W

v ks B Y Viscosity range Variety 000#~3# J) (I_)N J)L
il 46 725 A1 Reservoir 1/2/3/4L

i E Outlet pipe ®Bmm N

il _ i ey b o
EH #4 Applicable system HEHL Water Level Output AC220V

% BE 5 4F mPerformance Characteristics

1. {5 7/ Fn (8] 8% B 18] [3] 2 4 BB B 42 1 1% 2

2 HIEEREH1/2/3/14L, EHEE50mI/min M HFEE MMM

S HIFHERRZAXARBIREEMNMNERER EEBIENMIEENIEDEEAHEE ZRXRTATERRR P ESF
EEHEENEERS ZRERNBEREXR T ZRTREL/BEENCENH L ENEFABTREF.

1. Oil supply and intermittent time is settled by host computer.

2. The fuel tank capacity is 1/2/3/4L, and the discharge amount

is 50ml/min.The tank has an oil level gauge. ] i M outte

Ftank

3. The electric oil pump is driven with AC power grease pump. installing hole

(=)
pressure BOBHEE ©
guage

K

The grease will output unceasingly through the motor and

BRa

junction bo

©
mechanical transmission. The pump can be used to resist ﬁ

distributor which will inject grease into lubrication points.

The pump has a small volume and large output flow. It is widely

used in the centralized lubrication system of light Fegifating vaive
. . . ) WER
industry/forging and pressure automation equipment.
}EHEAD aus
butter inlet 227

butter outlet

33



MGH-1205-100T

7 AR & #Technical Parameters

(e Operating mode PLCH %]

€ VW R 7 Max.discharge pressure | 0~100kgf/cm?
T A Theoretical discharge 50ml/min

LB R Motor voltage DC24V 3.8A
HLAL 3 26 Motor power 55W

JE MR BEYG L Viscosity range Variety 000#~3#
A 7 Reservoir 1/2/3/4L

O E Outlet pipe d6mm

EH &S Applicable system HeH

el MIRAN®

PLCFBEEIRHER

Semi-automatic Butter Lubrication Pump

& 2% B The wiring diagram

C

1

4
D|DIDP

BAL M

Water Level OQutput

% BE 5 4F mPerformance Characteristics

1. 4 5i 0 (8] BX B (8] [B] 3 4 BB A 4% 1) 1% E .
2. A EH1/2/3/4L, i EE50mI/min MBI R

3 EFMEREMAXRREBREAERER CRIENMINMENFRABFEIHHE, ZRUTB TR 2B R
HEHEEANMFEER ZRAFRNAEREX T ZATRI/REBHNUFINRMRENETEBERE T

1. Oil supply and intermittent time is settled by host computer.

2. The fuel tank capacity is 1/2/3/4L, and the discharge amount is
50ml/min.The tank has an oil level gauge.

3. The electric oil pump is driven with AC power grease pump. The
grease will output unceasingly through the motor and mechanical
transmission. The pump can be used to resist distributor which will inject
grease into lubrication points.

The pump has a small volume and large output flow. It is widely used in
the centralized lubrication system of light industry/forging and pressure

automation equipment.

34

i$s

T

essure
regulating valve

HER

pressure

©

22

8o 72

Frtank k3 ¥iRva I ﬁ

installing hole 8
BOBHWREE ©

minimum height to ground level

I 93 _?ﬁ?ﬂ installing hole

\J
butterinlet
227

butter outlet



e MIRANS
MGH-1232-100TB

Self-control Butter Pump

. R polyester coil tube
FBAR

: R, 72
P Q)
N
B Fbutteftank FRILAL A g

installing hole’

(=
B
pressure N - EEE el
minimum height to ground level

guage <o

EAh®

287, installing hole

Ny

120

butter outlet

#¥ 7R 2 ¥ Technical Parameters £ 2% B The wiring diagram

#AE 7 Operating mode G 1
BE R 7 Max.discharge pressure | 0~100kgf/cm”®

VR Theoretical discharge 50ml/min :)
CER NN Motor voltage 110/ 220/380VAC C

LT =R Motor power 40W

T RS JEE Viscosity range Variety 000#~3#
WA A Reservoir 1/2/3/4L

HiyH O 8 Outlet pipe D6 o

CILIEL ot pip il wf Wy b

&M ARG Applicable system HH A Water Level output AC220V

4 BE 5 4F mPerformance Characteristics

1. hRTEBERERA N A (UPIEKATE) F T (DOWNFEFERTIE]) HBIRE, SEKMAATIETIE2008, HBE AR
. BEBTERIEHIERAZMA LA (UPEKETE) T (DOWNFERERTE) ZBIRE, BERE&ZKATIXI9DH, BE
RO 1538, BYEIREMIZ—RIRE, BRiBA, RERRERAK, RBTUAMNE, FEREERETHRE & Man)iEfF, B
Z % .
2. 5 MR ERERPRER, RARENAE, REENEER, BE—T (Man)iz#, HBRRE.
3. HMRERERON, R NHERE, MEEBEINHERKRKRE.
4. 31E (Man)iRBARM A Rz .

(ARBEEFFEEMERABLER)
1.Fuel supply time is set by the UP button(extending the time) and DOWN
button(shortening the time) on the right side of the control panel, which can reach up
to 200 seconds, with the precision of 1 second. Intermittent time is set by the UP
button(extending the time) and DOWN button(shortening the time) on the left side of
the control panel, which can reach up to 999 minutes, with the precision of 0.1 minute.
When setting the time, the beat numberis 1 if you press the button once. The beat
number can be accelerated if you hold down the button. All the settings will take effect
immediately after the setting is completed or after the Man button is pressed.
2.When the oil pump shows the EPR alarm, it indicates that the pressure is
insufficient. If the the pressure is normal, press the Man button to eliminate the alarm.
3.When the oil pump shows the ERO alarm, the oil quantity is insufficient, and the
alarm will be automatically eliminated after refueling.

) ) : 8] X 7 R Rl TAEMR
4.Holding down the Man button is dynamic test. rest time control button manual button work time control button

(specific lubrication plan can be customized)

35



RE&R R

el MIRAN®

(BMA series cycloidal pump)

4-a7.5
0 0o —|L
35k R Sulll Jazeh
Motor pump J 70 L so | o — “
i 70 !
S Model EHl Motor 124 & Cycloidal pump
M-BMA-10A =48 (Three-phase) 380V 50HZ 1/4Hp BMA-10A
M-BMA-11A =# (Three-phase) 380V 50HZ 1/4Hp BMA-11A
M-BMA-12A =# (Three-phase) 380V 50HZ 1/4Hp BMA-12A
M-BMA-13A =48 (Three-phase) 380V 50HZ 1/4Hp BMA-13A
M-BMB-1FS =1 (Three-phase) 380V 50HZ 1/4Hp BMB-1FS
M-BMB-2FS =# (Three-phase) 380V 50HZ 1/4Hp BMB-2FS
M-BMB-3FS =# (Three-phase) 380V 50HZ 1/4Hp BMB-3FS
SWAEIEERS N Bidirectional Cycloidal Pump 12 - I gE
IRAL 3R (AT S ) : ZERAERERE, BRME, BRTER, RER, AAREFM
IRA Cycloidal Pump Accessory I o g %&gﬁﬁ'ﬁ, iﬁﬁﬁ?fﬁ]f’%%ﬁ¢ﬂ@1ﬁ&i§giﬁﬂfﬁto
(Reversible) / = o ZRBHES:
Y] = T WERERMNRTLARRETLEEREERE, HARINE
KE—1N7EmE.
WEBERNAMOMEBORFFIE, RBEERATHRET.
] ERAT—RIE. SEEMM. . FR. EERE. BIENH.
MEH . SHLSENW. HKF.
Function 38.5

The structure is simple , strong self-absorption, stable oil flow, low noise, good high speed characteristic, which is suitable for low pressure continuous lubrication in lubricating system.

The pump features:

The bidirectional cycloidal pump must be designed to ensure that the flow of oil is always in one direction, whether it is forward or reverse.
The inlet and outlet of the two-way cycloidal pump remain unchanged, and the direction of rotation of the pump shaft can be changed.
Suitable for general positive and reverse machinery. Such as: lathes, rotary milling machines, pharmaceutical machinery, grinding machines, various refrigeration machinery, milling

machines, etc.

S migpt® | BAEH RS E HA D2 B8
Mod-‘gl Theoretical ischarge capacity (L/min Max.pressure | Max.rotary | Entrance outlet A Weight
discharge capacity (1500rpm) (1800rpm) (kgflcm?) speed thread (kg)
1RA-2FS 1.8 2.7 3.24 5 2000 PT1/4 50 1.1
1RA-3FS 2.5 3.75 4.5 5 2000 PT 1/4 55 1.2
A 3 3
4 H 3R A 307 ThhE

Cycloidal Pump Accessory ) l X
R = ZRASEME R, BRME, BATER, BER, &
@ ARENSHERY, ERTHERRETHNREES
~N & AN & L g 8.
< Y —I5 % BT @A : 30cSt-150cStA B .
< | & ;
b q Function
25.9 25.99 A C B oeo The strupture ofpumpis simple,§trong self-
T absorption, stable oil flow, low noise, and have a good
71 D high speed characteristic, which is suitable for low
pressure continuous lubrication in lubricating
system.Applicable oil viscosity: 30cst-150cst to pump.

o0t i & i) | . s | HADEL 2

2 Tr? tical Discharge capacity BREN R =R GHl 28
T 1eoretica (L/min) Max.pressure | Max.rotary A B C| D | Weight
ode l discharge (kaflom?) d Entrance (kg)

capacity(cc/rev) (1500rpm) (1800rpm) et speed(rpm) outlet thread 9

TOP-10A 0.8 1.2 1.4 5 3000 PT1/8 40 10.5 8 |58.5| 0.5
TOP-11A 1.5 2.2 2.7 5 2000 |PT1/8,PT1/4| 49 10.5 | 8 | 68 | 0.55

TOP-12A 2.5 3.7 4.5 5 1800 PT 1/4 56 11.5 8 | 76 0.6

TOP-13A 4.5 6.7 7.5 5 1800 PT 3/8 62 14 5| 82 0.8

36



B MIRAN®

BRI 2AEERERR (BRENEBERS)

Cooling Lubrication Sprayer with Self-priming

b K [ Standard length (2.

BB
;ﬁﬁ:”g uu.i;E‘.
Liquid \u/nariety F'("c"g/r:fi’r‘ge
SiEER
K, iE¥ Water, alcohol 0.3~30 G?(S)_ Dsrﬁgsau)re
108 &R E 450
No. 10 high-speed main shaft o 0.2~25
kR RETSEFRZFE, FRFAEHBEENZSES MPV_ _

T, BEEMIA, TNEWAFETR. RAYRE, HiE
GORE, BB, AEEDE, URAEFHERMIRR, B wm
s . 4o 5] i
ST RZ R s B IR,

e e AET: e
1.7£ﬂﬂEﬂ?‘iﬁ3/%§ﬂ;+7li?i%, "'X‘B%%Eﬂ—/ﬂﬁ: ° . 1: Metal Z. with check valve
2 AEEMIEE, TAMIAERER, HEd T EER. 2. Prastc Blankwithout chack valve
S EMTMIARMNMAEARIIESREERYR. EEEK
A MIASABEHE, DOSHTR, AREZRE. e e waxm
s HMEASR, TRENBEE, TREASH. e NETT
6E.]’%+X¢$[ﬂﬁ"]@lﬁiﬁﬁy iﬁ?%;f:]aﬁaﬁ:féﬁﬂiﬁqo 24. 240mm B | R
N Other lengths can be customized A-Fl |
EEED: A B:S;;gzzsznizzle
1. %1%% 55'5 ;’é‘:‘zi'ﬁzw . giame(er%ffﬁquid input
2. B ERB MY Z R i SHBAEE
3.EEIRSEEE. 5-0. 7MPa. (EUHRESE, SEBHXFR) 20 A
4. ERRAEFEE: 0-68cSt. o

8 o8

FRAE:

R, R, K, BR, BN, TTEMEN, CNCHLEK, MK, HBK, KL, ERF.

This product applies vacuum self-suction principle to make the liquid atomized by nozzle and air.

Spray to the work-piece, tool bearing and other lubrication points.Good cooling effect, lubrication, Clean and other functions
to improve production efficiency and quality, and reduce the loss of mechanical tool.
During the process, cooling, lubrication, blowing off iron filings can be completed at one time.
It can improve machining speed, save machining time and cost and reduce tool wear.
Help to ensure the quality and the best use of the tool.
Processing alloy or super hard material can also achieve smooth and high precision surface.
Increase the sealing method to avoid internal leakage and prolong service life.
Different parts can be used for different fixed ways.
Notes:

1.Use clean liquid.

2.Do not use corrosive liquid.

3.Air pressure range 0.5-0.7MPa. (atomization effect is related to air volume and air pressure)

4.Applicable liquid viscosity: 0-68cSt.
Usage:
Lathe, drilling machine, milling machine, grinding machine, tapping machine, cutter grinding machine, CNC machine
tool, punching machine, sawing machine, woodworking machinery, feeding machine, etc.

37



el MIRAN®

M RQ-CiEH = ;Tf_l 5‘%‘ ,‘_zrt é}’f MRQ -C Cooling Lubrication Sprayer with Self-priming

212.8
164.4

156

177.8

e priasd Model

MRQ -

ekl il

Control types

L1 L

A
C

# EDigital display

PLC

MPV I E 8%
MPV the number of sprayer

1 14~ unit
2 24~ unit
3 34 unit
4 44 unit
MAEER

Oil tank capacity
2 2L

3 3L

4 4L

5 5L

MRS %=

- RGRBEEERTMESHFER, MKREITHERBES, 505

N=PNE =
A=

RIS i, BONMMIIAEZIRE, LEAEBSRELE
- a.PLCIE I« 4 AN E 78 B (8] A0 8] 8K B 8] B3 S BBPLCE il

- b Tl 4 AN IS BT A0 i8] B B ) T T

- HARAMEARRTENEBRESLAEREEFES ., HERER
PLCE%.

- RGEWIERSEH0.4-0.6MPa

- BUAREFREEZ6mm

B & (MPVED) BIR 4 A1ER 5

REM .

el
=

WAL %
Liquid Level Switch

=A
Blank
D

w

Lower power supply

Eile
Upper power supply
To AL FF &

Liquid level switch unavailable

REKE
Piping length

2
3

2m

3m

4
5

4m

5m

MANBE

Input Switch

1 | 848 110V SINGLE PHASE 110V

o

S 3

38

2 | 838 220V SINGLE PHASE220V
6 DC12V
5 DC24V

Performance and characteristics

- the system is equipped with a solenoid valve that can be equipped with a
pneumatic pressure regulating valve to precisely control the air source and
fully atomize it with lubricating fluid to reduce the loss of mechanical tools
and achieve better cooling and lubrication effect.

-a.PLC control: cooling and lubrication time and intermittent time are
controlled by external PLC

-b. No control: no control is required for cooling and lubrication and
intermittent time

- When the cooling lubricant is insufficient, the buzzer will send an alarm
signal and output the abnormal signal to the PLC system.

- Air pressure of 0.4-0.6mpa is recommended for the system

- Default diameter of liquid and trachea is 6mm

- Suitable for use with (MPV) self-priming cooling and lubricating sprayer.



el MIRAN®

MRO-AHZJH/H R %4 MRQAutomatic Oil Mist Lubrication Pump

288.5
¥ 6 MIRAR 239 — 175

= 4 |

265

(Hiy

EIEEEET vode
MRQ-L1 L] [] = L[] []

WAL
5t 22 e A Liquid Level Switch
Control types =Q )
Blank Lower power supply
A | # EDigital display Can
L D Upper power supply
C PLC N
w R
Liquid level switch unavailable
MPV B ZE & Yy
MPV Number sprayer Ei:pm{gc{:ngth
1 11 unit 2 2m
2 24 unit 3 3m
3 3/|\ unit 4 4m
4 44 unit 5 5m
MAERR
Oil tank volume MANEE
Input Switch
2 2L
1| #48 110V SINGLE PHASE 110V
3 3L
2 | 348 220V SINGLE PHASE 220V
4 4L
6 DC12V
5 5L
5 DC24V
\H &6
'li—'t 51*% 'lf_:—'\ Performance and Characteristics
CRGRBRHETMESHFPER, WRRFITHEHITH, SHEBRREDESE . the systemis equipped with a solenoid valve that can be equipped with a pneumatic pressure
i, ROMWIIRCIFE, 2HEBYUREE. regulating valve to precisely control the air source and fully atomize it with lubricating fluid to
ca. WBIEH: S ENEBE A RN E ERETE AR, (RREBIEINEE, AIHiE reduce the loss of mechanical tools and achieve better cooling and lubrication effect.
B ENEEM AR RGRETIEE, “LUB” (B8R tigEETHEITZIZINEE, -a. Digital display control: adjustable cooling and lubrication time and intermittent time. "LUB"

lubrication: also has a power failure memory function, such as the working time set 16 seconds
to 14 seconds of work, the next power can continue to press 14 seconds start timing 1-999

T AERTEE E1 680 TIRBN4FDUAEE T, TORIBER A ARG IR 480 FR IR T AT 1-

N w T
999 (#) , “INT’EEk: 1-999 () 4FHKERAEH (seconds), "INT" intermittent: 1-999 (seconds) special requirements can be customized
- b. PLCHEHY . 74 AN I8 Bt 8) A0 (8] BX B+ i) | S BFPL CHE - b.plc control: cooling and lubrication time and intermittent time are controlled by external PLC
so. T AEH A EDE B I A 8] BR B i8] Fo & 1R -c. No control: no control is required for cooling and lubrication and intermittent time- with liquid
CRERMTFR. HAXERBRTIENEBESLAEREES, A BRERES level switch, the buzzer will send out alarm signal and output abnormal signal when the cooling
WY, (HETHXRAL EERER0) . lubricant is insufficient. Digital display controller liquid level is insufficient to show ERO.

- EAIE R B R e R S - the indicator light on the panel can show lubrication and intermittent state
- air pressure of 0.4-0.6mpa is recommended for the system

- RGEWERASE R0 4-0. 6MPa
- default diameter of liquid and trachea is 6mm

- BN S EE Z6mm
. R - suitable for use with (MPV) self-priming cooling and lubricating sprayer.
- A& (MPvE) BRRISAEEHEREM.

39



el MIRAN®

MYW-A;EH 3':';,3 }TE] 5'%‘ ,% ng: MYW-A Electrification Oil Mist Lubrication Pump

288.5

K B MIRAN
" - =

265

LU= AR Model

MYW=L] [J L] =[] L]

EHERAER
Control types

A | % 8Digital display

C PLC

MPV B ZE &N
MPV Number sprayer

1 14 Each
2 24> Each
3 34" Each
4 44 Each

ST
Oil tank volume

&AL FF 3%

Liquid level seitch

=L TiEE
Blank| | ower power supply

L@

D Upper power supply

Te i L FF %

w Liquid level switch unavailable
REKE

Piping length

2 2m

3 3m

4 4m

5 5m

BWANBE
Input Switch

1 | 848 110V SINGLE PHASE 110V

2 | #48 220V SINGLE PHASE220V

3 3L
4 aL
5 5L

MRS

- RGEREEBEATMESHAER, XSREHITERES, SHBRRSEEE
1, BONWMTIBEZHFE, LEEBMREE

c TEHBEIPBAR, ASTARERE, SEBERSHTEHAR, BHEESH
REHREREL, ARTARAR, SNMIBANEE, SENETA

ca  WRIEH: AEIBA AR E A A AR, (AIREHENE, THHERE
BB ME R RZRBERIRE, “LUBY EBEF: thiRBEETERICIZINGE, W I{ERS
8% 168 TIEEN ARV R ER T, TORIBER AT ALK 421 450 FFER 3BT 1-999 (#)
“INT” [B18R: 1-999 () BHEKRTEH

b, PLCYE I . )4 &N 8 B (8] 70 (8] 8K A (8] ) S ARPL CIZ

s, T¥EH 4 EDEIE B F0 i8] BR B 8] JT 4R

CRBRNUIFE HANEABRRTERNEBESLEREES,. HBEEESHE.
(BB EHIRBALA B ERERO) &

- ERIE R AT A B R B A E BUIR S

- RGEREWFERSERN. 4-0. 6MPa

- BN S EE Zomm

-fA (MPVED BRRAEEFEESEEM.

40

5 DC24V

Performance and Characteristics

- the system is equipped with a solenoid valve that can be equipped with a
pneumatic pressure regulating valve to precisely control the air source and
fully atomize it with lubricating fluid to reduce the loss of mechanical tools and
achieve better cooling and lubrication effect. It is mainly composed of electric
lubricating oil pump, oil and gas adjustable mixer, air source two couplings
and pneumatic components, electromagnetic valve and oil supply time of oil
pump are synchronous, oil pump adjustable mixer, oil amount and gas amount
of each lubricating point are adjustable in trace.

-a. Digital display control: adjustable cooling and lubrication time and
intermittent time. "LUB" lubrication: also has a power failure memory function,
such as the working time set 16 seconds to 14 seconds of work, the next
power can continue to press 14 seconds start timing 1-999 (seconds), "INT"
intermittent: 1-999 (seconds) special requirements can be customized

- b.plc control: cooling and lubrication time and intermittent time are controlled
by external PLC-c. No control: no control is required for cooling and
lubrication and intermittent time

- with liquid level switch, the buzzer will send out alarm signal and output
abnormal signal when the cooling lubricant is insufficient. Digital display
controller liquid level is insufficient to show ERO.

- the indicator light on the panel can show lubrication and intermittent state-
air pressure of 0.4-0.6mpa is recommended for the system

- default diameter of liquid and trachea is 6mm- suitable for use with (MPV)
self-priming cooling and lubricating sprayer.



el MIRAN®

A F f 3\ 7% 38 7E 78 ;i 38 MSL Manual Pull Lubricating Oil Pump

fﬁ',ﬂ‘% ’:ﬂ "I:IF & ?S‘Z 7K 7;5 5$lz“SZModel and technical parameters

MSL-

it E(mL/cy) i 5 O 5 E0il Outlet direction
Discharge amount
S J:H?H:l S:Up
X|TH O | x:down
FWAE
—= Handle form 3k O & 120il outlet diameter
3-06.8 @ LiLeft | L |EFE 4 [ 045 |4:04line
9 RRight | R| & FIE 6| 06T |6:06line
&
i
o u S H- b
: R 1 B 5 5

1R, REFRE. ERES. MIEEREREMER. BF

T3t i 8 B K A =A% O 5E B A FR o
2. EBRFABRERE BN
3. MK E : 20-150cst,

Performance and features:
1.Small size,easy to use and install. With anti-backup device to avoid oil backflow. Itis

commonly used in places where lubrication is not strictly required.
2. Applicable to simpler lubrication system.
3. Oil viscosity: 20-150 cst.

BE M P e [ HHOEE FRER L 5 0175 1 £8
Spec-i.fj_ications Maxm;t:g‘nsglljsrghame D;ﬁgﬁrn%e Outletmanaggement Handle f;rm Fcua?platcai?yk Outlet direction wei;t
MSL-8L L FELeft
0.5MPa 8ccley ©4 or 06 600cc %ﬁgﬁfﬁ;’_ 0.9kg
MSL-8R # F ERight

78 JH 28 MSY Oil Lubrication Pump with Hand Shake

MRESH R

] 1HRRBN, REFE. £AES. WEEREREMEIR.
& 58 O & 42 Outlet management BAFHEERTEAGAEB AR
4:04 line 4 |04 2. ERTHBRGRE LENH .
6:06 line ELES 3. @K 20-1500st.
FH7E Performance and features:
LiLeft LIZFE 1.Small size,easy to use and install. With anti-backup
R:Right RIGFE device to avoid oil backflow. Itis commonly used in places

Discharge amount Rt ti &(mL/cy) where lubrication is not strictly required.

2. Applicable to simpler lubrication system.
3. Oil viscosity: 20-150 cst.
150

= S
™~ S
— N
(MSY-8)
;IJ-IL, *ﬁ i‘] 'E'F & B‘Z 7K é;‘ ﬁModel and technical parameters
e LD it 8 HHOEE FEEA H 5 0175 1 £8
Spec?ications Maxm’;l:?sglljsrc;harge Discharge fmount Outlet manfgement Handle f(I)rm Fcua(i)latcai?yk Outlet direction Wei?ht
MSY-6 600m | 1. 2kg
kA B ESEET
1.5WPa éml/cy ®4or 06 Left or Right Up or down
MSY-8 800m| 1. 4kg

41




el MIRAN®

MYK §2$J:T: :_Etﬁﬁ 5HE| }Lﬂ}ﬁ 5]5'5] ;E MYK Oil Lubrication Pump with Hand Press

il BE=SEVAEIN Model

MY K-

5l O & 2 0l outlet diameter
4 | $E QA |4:04line
6 |3E DEE |6:061ine

F %75 [ElHandle direction
L| EFFE |LiLeft
R| AFFE [RRight

170

it 2E(mL/cy) Discharge amount (mL/cy)

HERES A ——{5] 3-5 Jsss

1IZHRREER, ETFRAGERAEEREAN, FREMN, ERFNNERATH

116
116

- - . - EEEMNR R .
® @ 2 ZRASHNRASEF[ERETDRRE, EATEREEKSK, &K, 15NER
SRR EMEBRE.
@ Performance and features:
191 2 191

1. The oil pump is a piston pump. When the handle is pressed down, the oil will be

m )= > g . . . ~ suckedinto the piston cavity. o ) i o .
;)b *% i = & j:i 71( Z ﬁ& 2. The pump can be combined with the resistance distributor to form a centralized lubrication system, which is suitable for various lubrication equipment

Model and technical parameters withinlength in 5 meters, heightin 3 meters and 15 lubrication points.

e il nt 8 HHOEE FRER 5075 1 B8
Specifications pressure 9 Discharge amount Outlet management Handle form Outlet direction weight
MYK-5L 3-5ccicy k FELeft
0.4MPa BRI ®40r06 500cc 0.7kg
MYK-5R QOil is adjustable A FERight

MYG B! F3E X HBEEHBHZE (000#-00#)

MY G Grease Lubrication Pump with Hand Shake

A = & & IV

MY G-

Installation diagram

. A Blank:without pressure
N o
=8 T ™ EI] E relief valve
X %EI]E X:with pressure
relief valve

HEEE (mL)
Tank capacity (mL)

1 6 545 A et e 0 200

| erformance and features:

b —] 0y N H

‘ﬁ . o " 1. Plunger Volumetric pump, resin tank. 05 500
Z=XEHE Sh 45

THEXSRAR, WEH . 2. Manual operation, simple and convenient to use. 08 800

2. Eﬁﬂlﬁ‘é'f’ﬁ y 1% A T'Eﬁ $ \ Hf§ ° 3. Transparent resin oil tank for easy observation of oil level.
3. BRI RS hAE, FEME ML, 4. Theoilfeed agent can be supplied directly to the lubrication point. It can be used with adjustable

4 MEEERARAHERT, TSARARSEEXSRBBIEREERER.

distributor or single side distributor.

Spgﬂcﬁigﬁns Max?sfir‘\)jgiisﬂil}gh?rge D:E?ﬂie Outle&t Zﬁal:rll;%g?ment Discgggn%[mber 'iijf%i Ou:tiﬁgtﬁid?rg:tri?m Sy’ztietm
MYG-03 300ml
MYG-05 100kgf/em? | 2ml/cy ©4/06 1-34 500m! b i R
MYG-08 800m

42



;Ti] 5@ ,‘_zr& Z}E ﬁj\ EE %% Oil Lubrication System Distributor

el MIRAN®

LA%EC 28 LA Distributor

E & I8Sleeve Bearing
M8x1.0

R~F B Dimension Diagram

Exit O ®4T

A
T 8 ] — B
. E) 16 15
e ] | R L L R
o6 . x1. — .
I B /Eija____ﬁaﬂzj\ O5
gl:ag)\(/l‘é)earing ﬁi) T T1
L ‘"} H ﬂ V’gl \WN-M8XP1. 0
(LA082)
A= | EE/XEEE HO% A B #iE
Model Main/Branch pipe diameter QOutlet Note
LA0O41 ®4/04
LA042 ®6/04 4 48 36
LA043 ®6/06
LA061 ®4/04
LA062 ®6/04 6 64 52
LAO63 ®6/06
32 AR 4R 2 P2
LAO81 ©4/04 T EM
LA082 ®6/04 8 80 68 The ol N
e hole can be
LA083 ®6/06 customized
LA101 ®4/04
LA102 ®6/04 10 96 84
LA103 ®6/06
LA121 d4/04
LA122 ®6/04 12 112 99
LA123 ®6/06

LVA] 8 5 fic 25
LV AdjustableDistributor

Input mﬁ- & §r @ G ..Gi_q_
2% @
k T
P
(LV066-04) tHEI¢6-‘D4
Outlet
< A > &
B 2-95.5 15
+ i el e el e t T o psus
—=F 1=
= i &
R1/§/ T LTI LT T

43

LK 83 L 1 722 A] 38 79 Fic =%

LK with lock shock-proof and adjustable distributor

Outlet # O méT EEME
M10x1.

W W WP Wy
Iy m

3 3 =3

0
¥

I\ )

(LK058-06)

121

Sleeve Bearing

Input

AO o8
EEMR
Sleeve Bearing
M14x1. 5

ot |




B MIRAN®
LVE[ i B2 25 LKE i o] i 9 0L 25

LV adjustable and LK lock adjustable quantitative pressure distributor

&5 Model A O d4%&Input Dimension H O O outlet Dimension i O #Outlet number A B

LV024-04 04 4

LV026-04 o Ly

ngzg-ge mg 6 2 47 37

LV028-06 08 6

LV034-04 04 o4

LV036-04 6 o4

LV036-06 6 6 3 62 52

LV038-06 8 6

LV044-04 04 o4

LV046-04 6 o4

LV046-06 ©6 ©6 4 77 67

LV048-06 8 6

LV054-04 04 4

LV056-04 ) o4

V02606 o6 ©6 5 92 82

LV058-06 o8 6

LV066-04 6 04

LV066-06 6 6 6 107 97

LV068-06 o8 6

LV076-04 6 4

LV076-06 6 6 7 122 112

LV078-06 8 6

LV086-04 6 4

LV086-06 6 6 8 137 127

LV088-06 8 6

LV096-04 6 4

LV096-06 6 6 9 152 142

LV098-06 8 6

LV106-04 6 04

LV106-06 6 6 10 167 157

LV108-06 o8 6
X LKEF AR TS HELVEE. BT REBZFAAEFLAE M.
Attention:the parameter between LK and LV is same, the oulet about the distributor can be customzed

LE Wiz B 5RE &) LE two-way coupling Distributer(aluminum alloy)
REINNERTE
standard Dimension Diagram Branch tube
’
EEdl y o B v a2 |33
Main tube -" Main tube
|
2-06.5 || mEEEien
I A Thickness of Distributor
# EModel d1=d2 d3 H 3 O # & Outlet number A B

LE-6-8-8 M8X1 M8X1 4 36 48
LE-6-10-10 M10X1 M8X1 4 36 48
LE-8-8-8 M8X1 M8X1 6 52 64
LE-8-10-10 M10X1 M8X1 6 52 64
LE-10-8-8 M8X1 M8X1 8 68 80
LE-10-10-10 M10X1 M8X1 8 68 80
LE-12-8-8 M8X1 M8X1 10 84 96
LE-12-10-10 M10X1 M8X1 10 84 96

44




el MIRAN®

;Tﬂ 5|5] ?\. zﬂ\' ﬁj\ @E %:t Oil LubricationSystem Distributor

LB 4 fic 8% LB Distributor R <1 [ Dimension Diagram
A
6,, B 6 Q‘bf"’
nputtH [ 4 TM8X1.0 16 o
6
= < 16 |2
= : VANV/ANFA
Outlet T \ T1
AO o6 o
M10X1.0 ‘ ‘ ‘ ‘
i 1=
(LB083) D@ @@J‘ —
== i i =
HOoO& H O
& SModel T/ Outlet Dimension Outlet number A B
LBO41 D4/ 04 504
LB042 b4/06 2 48 35~36
LB043 D6/ D6
LB044 ©6/D6 2.06
LBO51 D4/ D4 304
LB052 4/D6 3 64 51~52
LB053 ®6/D6
LB054 ©6/D6 3-06
LB061 D4/ D04 4-04
LB062 D4/06 4 80 68
LB063 D6/ D6
LB064 ©6/ D6 4-06
LBO71 O4/D4 504
LB072 D4/06 B 5 96 84
LB073 D6/ D6
LB074 ©6/D6 5-06
LB081 d4/04 6-04
LB082 D4/06 6 112 96~100
LB083 D6/ D6
LB084 ©6/D6 6-06
LB091 D4/ D4 204
LB092 D4/06 7 128 116
LB093 D6/ D6
LB094 D6/ D6 7-06
LB101 ®4/04 8-04
LB102 D4/06 8 144 132
LB103 D6/ D6
LB104 ©6/D6 8-06
LB121 ®4/04
LB122 b4/06 10-04 10 176 164
LB123 D6/ D6
LB124 D6/ D6 10-06

45



el MIRAN®

;T.ﬂfa ,%;Z}E ﬁﬂﬂ%:t Oil LubricationSystem Distributor

LBMPE R 4 BC 2% LBM Current Limiting Distributor JR] 51 &l Dimension Diagram

==

HIARXDERESLB/M/MKELFRT SRR, HAPLBME S AR BLBSE R Mt S HOPNEFLEES TR .

Resistance distributor includes LB/MV/MK and other series distributors, among which LBM distributor is
composed of LB distributor and measuring parts DPM.

B SMode | T/T1 Outlo Bl elon Outlftlﬁfgwber A B
tSMSZ‘& $2§$2 2-04 4 48 35~36
tEMS?é $i§$2 3-04 5 64 51~52
(BM062 o406 4-04 6 80 o8
[BMO72 Ry 5-04 7 % 84
tSMSS& $i§$2 6-04 8 112 96~100
[BM092 o4/ 7-04 0 128 | 116
(BM102 04706 8-04 10 144 | 132
tgm% $j§$2 10-04 12 176 164

46




el MIRAN®

LDE £ it [ N #%5 H o B 25 / & 8 = TR 20 3% 7 47 B 25

LD Quantitative Deoiling Thin Oil Distributor /' Volumetric Thin Oil Distributor

Al 2 371 AAModel Instruction

17 l
- ERMHHOHE
The fifth oil qutletgmgm
A FE A M O =
The fourth oil outlet amount
81 , oA EAORE
15 The third oil outlet amount
%:/l\ Hj 381 O 5H 2 The second oil outlet amount
— 55 — /N 3 [ 58 2 The first oil outlet amount
Mounting holes 58 O #The number of oil outlet
2-06.5mm 2 | 2fx 4 | 4
Vs 3 [sta 5 [ st
M10X1.0 . =
81 e MRABHKRER, HMOMERIAR, REO InLER.
Attention: if there isn’t any other requirement, the standard oil is 0.3ml for one time
2 R & i Technical parameters
A EMode | H 0 #Outlet number A B it i & Discharge amount
LD2 2 53 39

LD3 3 65 54 0.1;0.2;

0.3;0.4;

B LD4 4 84 70 0.5;(mirey)

LD5 5 103 88
*HERNGE:

GE: HFEHmOMaEE—#N, RA-NMhHBESRR)

#I1:LD5-25 7R RSN S BL 8%, 581, 2,3,4,5 il QM B 23 H0.2mIT K.
f12:LD5-53235% 7~ A5G S EL AR, 51,2 ,3 4 5t 0 O M & 5 %) 40.5; 0.3;0.2;0.3;;0.5mIF R
FE: He: 7;08; 9; 100, ASMIA2; 3; 4; SAIHA. 6L AMISMLMAS.

* oil quantity representation method:

(note: when the oil value is the same, only one oil value is used)

Example 1: LD5-2 indicates LD model and the amount of 1 and 2 oil outlet in 2 allocator is 0.3ml
each time.

Example 2:LD5-53235 indicates 5 allocators, and 1, 2, 3, 4, 5 outlet flow rate respectively is
0.3ml, 0.5ml, 0.3ml, 0.5ml, and 0.4ml each time.

Note: among them: 7,8,9,10 bits is the combination of 5 bits and 2,3,4, or 5 bits.
The 6 bits, the combination of 3 and 3 bits.

T £ Operating principle

B)itETh (4)ntidig 2 (5) nbihTEEE

(DR 1E
THEREE: A: WEFEDNETE B SENEEHETERLE, WEABREXMHMNEENEIN, HBEEREEBEEF RN, BIBRCOEXFEZIFA.
EHMERTHEEZER TAMESEGMEEHRE R, NMHTIHEER, HEEARHERZTR (BEE) , SEEBEEHLEME, BIRNFBHEOE, FREE
At EEREE M OEBX N AEHMS R EZEF R, FSHINHEERNRE. MEMAKHABSRER, AM#ASENETRIER.
A: metering piston action schedule B: the action trip of the umbrella type two-way valve is shown in the figure above. The oil from the lubrication pump is injected

from the director A, and the umbrella-type two-way valve B is pushed open. Push the piston chamber to F through the channel C.The piston moves downward under
the action of pressure oil.

The spring G is compressed.Thus the measurement of oil storage.When the oil pressure is released in charge of A(the discharge pressure). The umbrella valve B
moves with pressure difference. At the same time, it opens the outlet E, so the living room measures the oil storage.

The oil is transported to the lubrication point by outlet E to the pipe H, and the signal pin | is prominent when measuring the oil storage. When the oil is supplied to
the lubrication point, it is retracted to confirm the completion of the distribution.

47



B MIRAN®

L CRE 5t 2 2 1 P 7o 43 2 58/ B 2 9 ) 25 L 5 4 v ) 8

LC Quantitative Decompression fully enclosed thin oil distributor / quantitative fully enclosed volumetric thin oil distributor

#l = IR BH Model Instruction

17
FRAMHMOME
The fifth oil outlet amount
5004 e Ol =
The fourth oil outlet amount
81 =AM E
The third oil outlet amount
& — AN 58 O 5B & The second oil outlet amount
— 58 — /N 58 O S 2 The first oil outlet amount
Mounting holes 5 O #The number of oil outlet
R 7L2-06.5mm 2 | 2fx 4 |
3 | 3fi 5 | 54
92 v
M10X1.0
A MR BERREXR, HiMOMERIAA3, KR 3nLEBIR.
Attention: if there isn’t any other requirement, the standard oil is 0.3ml for one time
}5 7K & % Technical parameters
A SMode | H 0 #Outlet number A B At} #k Discharge amount
LC2 2 53 39
LC3 3 65 54 0.1;0.2;
B 0.3:0.4;
Lc4 4 84 70 0.5; (ml/cy)
M8X1 LC5 5 103 88
MEBRNAE:

GE: A ROHBRE—#F, AA—NMHEBERT)
f51:LC5-2% R ASI N EL 88, 551, 2,3,4,5 BB M E 2 & H0.2mIE XK.
f512:L.C5-53235% 7~ AL EL 8%, #51,2,3 ,4 ,5H i O M & 9 51 50.5; 0.3; 0.2;0.3;0.5mIE X
E: Hep: 7; 8; 9; 101, ASHIF2; 3; 4; SMIHA. 6L K3 SIMMESR .

MRS

LCEHAERPE/BYMRRKRLE., %iE. KB, MHIRERMEN S ERF AR L2 E
BED. eHAEENERAYMRTUALEENE, BWETHRBEAEGERRIERR
%, EREEMER.
* oil quantity representation method:
(note: when the oil value is the same, only one oil value is used)
Example 1: LC5-2 indicates LC model and the amount of 1 and 2 oil outlet in 2 allocator is 0.3ml
each time.
Example 2:LC5-53235 indicates 5 allocators, and 1, 2, 3, 4, 5 outlet flow rate respectively is 0.3ml,
0.5ml, 0.3ml, 0.5ml, and 0.4ml each time.
Note: among them: 7,8,9,10 bits is the combination of 5 bits and 2,3,4, or 5 bits.
The 6 bits, the combination of 3 and 3 bits.

LC fully enclosed quantitative distributor effectively solves the dirt, iron slag, wood chips, cutting
fluid and other debris into the distributor causing reduce the life of the distributor. The fully closed
quantitative distributor can effectively solve above problems and enhance the service life of the
distributor so that it can lubricate the equipment adequately and make the equipment better using.
TIERIE: A: WRFEDETE B : SENEEHETERL LR, WABREEH
HMEBNEN, FEEHNEEBEEF RN, BIBBCEXFEEZIFN. ZEN
HERTWHEEZEA THEREGEESHESH, NMHITIHEEH, HEEARHBER
B (REE) , $HEBAEHNEMNE, FNFRLEOE, FREZENITEEH
BT A OEX N R BEHT RN Z IR R, FSHIMTEEMARY. MRS
RS RTAEE, M #IADESETTRIBER.

T {E & I Operating principle

A: metering piston action schedule B: the action trip of the umbrella type two-way
valve is shown in the figure above. The oil from the lubrication pump is injected from
the director A, and the umbrella-type two-way valve B is pushed open. Push the piston
chamber to F through the channel C.The piston moves downward under the action of
pressure oil.

The spring G is compressed.Thus the measurement of oil storage.When the oil
pressure is released in charge of A(the discharge pressure). The umbrella valve B
moves with pressure difference. At the same time, it opens the outlet E, so the living
room measures the oil storage.

The oil is transported to the lubrication point by outlet E to the pipe H, and the signal
pin | is prominent when measuring the oil storage. When the oil is supplied to the
lubrication point, it is retracted to confirm the completion of the distribution.

()R 1E E 1 5T (4)ItiREFE  (5) AiimSTEE

48



el MIRAN®

LH/LPE = HMBEMER & B 25

LH/LE grease ration pressurized distributor

£ = 152 BA Model Instruction
faep;::fm)]

®4(
(EEIBMBXT. 0) # = & 2 VN

LH/LP| |-

FANMHMOME

The fifth oil outlet amount
A R Ok E

2-06 (E H X # OEntry) The fourth oil outlet amount
EEMEN10X1. 0) F=AHMOME
Sleeve Bearing The third oil outlet amount
%:Atﬂ 58 [ 38 = The second oil outlet amount
— 55 — /N i 5 O 3 = The first oil outlet amount

5 O B The number of oil outlet
2 | 2 4 |4
3 [ 3fL 5 | 51

(LH3)

E MURBRHRER, HimOMEERIAAS, KR 3nLER.

Attention: if there isn’t any other requirement, the standard oil is 0.3ml for one time

;B = 3R 7= 55 7% Oil quantity representation method ¥ K = #{ Technical parameters

o — s BS TAEE S (MPa) O % REHE (ml/cy)
KhHEBERRGE: Mode | Pressure Outletnumber Discharge amount
GE: SFradmna=sE—H#e, RA—NhEEEXR) i,
BI1:LH3-2% R AL S B 3%, 81, 2,3 b O 8 2 2 H0.2mIE K. AZl
512:LH5-53235% /x ASAL T BCES, 581,2,3 ,4 .5 OME 5 5450.5;0.3;0.2;0.3
;0.5mIE X . LH2 2
F: Heb: 7; 8; 9; 104, ASMIF2; 3; 4; S(uAE. AL AL S HIES .
LH3 3
. ) ) ) 0.1:;0.2;
oil quantity reprgsentat!on method: ‘ ‘ LHa >1.6 4 0.3:0.4:
(note: when the oil value is the same, only one oil value is used) 0.5:
Example 1: LD3-2 indicates LD model and the amount of 1 and 2 oil outletin 2 ’
allocatoris 0.3ml each time. LH5 5
Example 2:LD5-53235 indicates 5 allocators, and 1, 2, 3 outlet flow rate
respectively is 0.3ml, 0.5ml, 0.3ml, 0.5ml, and 0.4ml each time. LH6 6
Note: among them: 7,8,9,10 bits is the combination of 5 bits and 2,3,4, or 5 bits. "
The 6 bits, the combination of 3 and 3 bits. Bi
LP3 3 0.1;0.2;0.3;0.4;0.5;
=1.6 AR A A
LP5 5 The size of the distributor
F—LE':[RT_I'Dimension also can be customized

*: LPEKREHIESBLH. The specific parametersis same as LH

A BI(LH) :

46 I— 64 | 83 | | 99 | | 115 |
W <+« 50.5 67.5
- UE?§6.5 DW [ 34:] 17— 17 4 17 k17 -L 34 —»|-17 1
B &I (LP) : Input
o) TR IR R R R B N E 2 4 8 K -
T Sleeve Bearing outiet WEFLAILN: 26, 3. 1061, 15(1%
! ©6(E B A D) SER M T R b ATARIE B A R

— (EE1EM10X1.0) Length of type B pressurized distributor can be customized
Sleeve Bearing

o1 according to customer's requirements:

Oil outlet holes: 2, 3,10, 15, etc

* ZRSTAFIME, REAImmA . * this dimension is measured manually with an error of 1mm.

49



el MIRAN®

}TI 5’%‘ B’ﬁ 'ﬁ: Lubrication Accessories

[ E W #£ 3Fixed double joint 1T 8 W $% kFilter double joint

28
®5 16
il
19 LT ,q
e N =
&
# SModel MPJ04 MPJ04
# & Specification d4-04 O6-06
B3 B2 i (g)
Mo:ﬁel Diagmgter T T1 Weiggt T M8X1 M10X1
MJ0808 d4xd4 M8x1 M8x1 23 & 545 E (1) Filtration accuracy 20
MJ0810 P4XxD6 M8x1 | M10x1 22 {3 ERange of application #4130k R i Resisitant Lubrication System
E S1Pressure (kgf/cm?®) 25
MJ1010 ®6x®6 | M10x1 [ M10x1 | 20 ;
& A7 @Maximum flow (L/min) 1
A m¥5EOIl viscosity (cSt) 30-250
B j##E 3k Through Joint

———l ®d

: 15
L2 :k'z@_y/ﬂ

©

y= w@
L1 Mgo:fa Di:n;ter od L T T H ivi.éﬁ?
i MD0406 o4 | 25 | 18 | wmex1 M6X1 10 6
Mﬂfl D'éﬁt T L1 L2 EE(g)
oae lameter i
Weight MD0406-1| ®4 | 2.5 | 18 | msx1 | MBX0.75 | 10 6
MKDO04 o4 M8x 1 28 19.5 15 MD0408 o4 3 18 M8X1 M8X1 10 6
MD0410 o4 3 18 M8X1 M10X1 10 8
MKDO06 o6 M10x1 30 22 26
MD0418 o4 3 18 M8X1 PT1/8 10 8
MD0414 o4 | 35 | 18 M8X1 PT1/4 14 17
065 15 MDO0618 6 4 18 | M10X1 PT1/8 10 8
|

|
I
| T MD0608 ®6 4 18 M10X1 M8X1 12 8
I
|
T

— — MDO0614 ®6 5 18 M10X1 PT1/4 14 14
L MD0610 ®6 3 18 M10X1 M10X1 12 8

MDO0818 o8 5 26 | M14X15 | PT18 | 17 22
e e T T1 it MD0814 *8 6 26 | M14X1.5 | PT1/4 17 26
MJDO4 o4 M8x1 28 195 MD1018 | ©10 | 5 28 | M16X1.5 | PT1/8 | 19 29
MJDOG 06 M10x1 30 22 MD1014 | ©10 | 7 28 | M16X1.5 | PT1/4 | 19 33

50



el MIRAN®

}TI 5’%‘ B’ﬁ 'ﬁ: Lubrication Accessories

B [6) H #% 3k Unidirectional direct joint & 51 B #% SkReverse direct joint

\ @2.4

|= &1 = &1
M%:j?a Diam%ter L T T1 H \}:in’é?.l M%(;ZI Diam%ter L T T1 H %5;%2

MDO0418A 4 26 M8x1 PT1/8 10 11 MDO0418B 4 26 M8x1 PT1/8 10 11

MDO0618A ®6 26 M10x1 PT1/8 12 14 MDO0618B ®6 26 M10x1 PT1/8 12 14

# [a) B fA$% 3k Unidirectional right Angle joint H f3 L Right Angle connector

L1 L1
N ! ::N )
= é 3 : -~
s | T1 !
=<z 4 Ned
e &a )= e L1 | L2 T1 H B (g)
Mgg(?el Di:rn{eter L1 | L2 T T1 H %géﬁi B SModel | piameter | PD T Weight
MHO0406 »4 2 18 | 18 M8X1 M6X1.0 10 12
MHO0418A 4 18 | 20 | M8X1 R1/8 14 14
_ 18 | 18 M6X0.75 | 10 13
whos18A | o6 | 20 | 22 [M10x1] R1/8 | 21 21 MH0406-1 | o4 | 2 M8X 1
MH0408 ®4 | 3 | 18|18 | M8X1 | M8X1.0 10 13
MH0418 o4 | 3 | 18|18 | Msx1 PT1/8 10 13
H 3 #% <Reverse square joint MH0414 ®4 | 4 | 20| 22| msx1 PT1/4 14 32
0 MH0608 ®6 | 3 | 20| 20| M10X1 | M8X1.0 12 20
T MH0610 ®6 | 4 | 20| 20| Mi0x1 | M10x1.0 | 12 20
=
:.:\ — MH0618 ®6 | 4 | 20| 20| miox1 | PT1/8 12 20
N
— MH0614 ©6 | 4 | 20| 22| miox1 PT1/4 14 29
] MH0818 ®8 | 5 | 26 |29 | M14x1.5| PT1/8 17 52
11 621
MH0814 ®8 | 6 | 26|29 | M14x1.5| PT1/4 17 56
= s MH1018 | ®10 | 5 | 29 | 31 | M16x1.5| PT1/8 19 70
ol |Diameer | L1 [ L2 [ T [ Tt | H | ¥A&
MH1014 | ©10 | 7 | 29 | 31 | M16X1.5| PT1/4 19 70
MHO0418B o4 18 20 M8X1 R1/8 14 14
MHO0618B 6 20 22 | M10X1 | R1/8 21 21

51



el MIRAN®

}TI 5’%‘ B’ﬁ'f Lubrication Accessories

& I18/5H & #£ 3k Casing cap/tubing joint E &/ $1 B Casing/ seal ring
l od |— L
> st & T
< TNt » SINNCE

BE=Model | pBE | od L T H T &l EModel e od oD L L)
MAO4 o4 | 41 | 12 | M8X1.0 | 8 3 MBO4 04 4.1 6 45 0.3
MAO4-1 | o4 | 42 | 12 | M8X1.0 | 8 3 MBO6 06 6.1 8 45 0.6
MA06 ©6 | 6.1 | 12.5 | M10X1.0 | 10 4 MBO8 08 8.1 1 7 2
MAO8 ©8 | 81 | 14 | M14x1.5| 14 9 MB10 ©10 10.1 | 13.5 8 3
MA010 | ®10 | 10.1 | 15 | M16X1.5 | 16 10

74 1 E 18 #% 3k Movable through joint

14

L - g
.

E N}/l & % E Casing cap/Tubing joint

Tl
28 Model A B e B Shode | #ZDiameter T4 1
MF04 04 ©2 0.1 MW0418 ®4 M8X1.0 | PT1/8 28
MW0618 06 M10X1.0 | PT1/8 26

MF04-1 ©4 ©2.5 0.1
MWO0118 PT1/8 PT1/8 26

MF06 ©6 ®4 0.2

4y Complement core

B2 08/4E S 42 B Nut/sub nut

. = TIRF TSN F
" I—L—I &S Model (Inter thread) (Outer thread)
A
, !
W ¢d;HE- ] MBX1814 PS1/8 PT1/4
<& e
H 7 MBX1438 PS1/4 PT3/8
memodel | B2 | od L T Wl Se MBX3812 PS3/8 PT1/2
MPO04 ®4 | ©4.05 13 | M8X1.0| 10 3
MBX1234 PS1/2 PT3/4
MBX341 PS3/4 PT1

52



el MIRAN®

}TI 5’%‘ B’ﬁ'f Lubrication Accessories

SE TN B f 1%k Movable square joint

y “&‘%}“ 30.5 11
» 1 Q)=
& | Lo kj
[ N T1
T12.6
_1f
A EModel Di;é:m%ter T T1 %Eéﬁi B EModel & 1ZDiameter T T1
MC0418 o4 M8X1.0 PT1/8 38 BGT0806 o4 M6X1.0 M8X1.0
MC0406 o4 M8X1.0 M6X1.0 38 BGT0808 o4 M8X1.0 M8X1.0
MC0408 4 M8X1.0 M8X1.0 38 BGT0818 o4 PT1/8 M8X1.0
MC0118 PT1/8 PT1/8 36 BGT1006 o4 M6X1.0 M10X1.0
BGT1008 6 M8X1.0 M10X1.0
BGT1018 6 PT1/8 M10X1.0
S B A #E 3k Flat rectangular joint FLA =B Zk Hole tee
W
‘#‘I L1
A?E P - O =
'v "11 Yy S Cj
' T T1
B 2Model |pfE. | ©d | L T T1 H | B&@ _
° oo ) 2 Model L1 L2 w e
MPL0408 | ©4 | 2 | 21 | M8x1.0 | M8X1.0 | 12.7 | 15
MPLO410 | o4 | 2 | 21 | M8x1.0 |M10x1.0| 12.7 | 15 MT18 PS1/8 27 21 14 34
MPL0418 | ®4 | 2 | 21 | m8x1.0 | PT1/8 | 127 | 17
MT14 PS1/4 31 25 18 47
MPL0408Z | ®4 | 2 | 21 | M8X1.0 z18 | 127 | 17
MPL0618 | ®6 | 2 |[22.3| M10x1.0 | PT1/8 | 127 | 15 MT38 PsS3/8 40 31 21 86
MPL1818 25| 21 PS1/8 PT1/8 | 127 | 15
£ & £ 3 Casing stopper head I i 2 3k Flat end plug
H
L H
L
T tr
£l SModel L T H ) £ 2Model L T H 180
MG0408 16 M8X1.0 8 5.4 MGO04 12 M8X1 8 4.4
MG0610 17 M10X1.0 10 8.8 MGO06 14 PT1/8 10 7.6

53




el MIRAN®

}TI 5’%‘ B’ﬁ'f Lubrication Accessories

S
5 J

A 3B #E Sk Two-way connection ;A Grease nipple

ES Model df fZTooth size | D f&Tooth size | LicELength S fiLAngle Nf:ﬂfjgf Copper ,ﬁfﬂ?mn
2-8-8 M8X1 M8X1 24 10 . L 17
2T-8-10 M8X1 M10X1 24 12 “I @ S
A
2T-10-10 M10X1 M10X1 26 12 D
2T-10-12 M10X1 M12X1.25 29 14 FT1/8" K-l/'}_‘ 1 _J'\mfﬂ'
180° 45 90°
2T-8-G1/8 M8X1 G1/8 23 10
2T-10-G1/8 M10X1 G1/8 23 12 A5 Model D #ZTooth size Af EEAngle Li ELength | SAfIAngle
2T-14-G1/4 M14X1.5 G1/4 33 16 HY-106T M6X1 0° 12 8
2T-16-G1/4 M16X1.5 G1/4 36 18 HY-108T M8X1 0° 15 10
2T-18-G3/8 M18X1.5 G3/8 39 21 HY-110T W10X1 0° 17 11
TSR HY-114T R1/4 0° 24 13.5
E 3£k Connector
HY-118T R1/8 0° 17 1M
L HY-206T M6X1 45° 16 10
f HY-208T M8X1 45° 19 10
S ity HY-210T M10X1 45° 19 11
Wy HY-214T R1/4 45° 26 13.5
Jt =
HY-218T R1/8 45° 19 11
HY-306T M6X1 90° 16 10
HY-308T M8X1 90° 19 10
| = 42 i RF
BS Model DERE el e LSk ey HY-310T M10X1 90° 22 11
PJ-6 M6X1.0 20 HY-318T R1/8 90° 22 11
PJ-8 M8X1.0 23 A=0° BPAHEBEZMYE  (A=0° as grease nipple)
A=45° BT RHEEEM  (A=45° to turn yellow when the nozzle)
PJ-10 M10X1.0 25 A=90° Bt RHEREMYE (A=90° for right grease nipple)

|4h 1% = 18 #E 3k Lateral external tee joint

E: THTHRES (Note:don't take T for aluminum)
n:HY-118 (Such as:HY-118)

8l Oil brush

D S
B =
A ]
L

&S Model D ZTooth size d7F &Tooth size Li ELength SfafiAngle A5 Model D #ZTooth size D S B A

3TZ-8-8 M8X1 M8X1 28 12 MOB1816 RC1/8 75 14 37 16
3TZ-8-10 M10X1 M8X1 28 12
3TZ-8-1/8 R1/8 M8X1 28 12
3TZ-10-8 M8X1 M10X1 30 12
3TZ-10-10 M10X1 M10X1 30 12
3TZ-10-1/8 R1/8 M10X1 30 12

54




X8 MIRAN®
fl‘I 5’%“ Bﬁ'f Lubrication Accessories

= 15 B B $£ 3k Pagoda straight head = & B) B A $% 3k Pagoda-type right Angle joint

B S Model Di:%n?fter TheTgtif%ﬁzead B3 Model Di:Er&nffter TheTgtif%ﬁzead
MYBDO0418 o4 PT1/8 MYBH0418 o4 PT1/8
MYBD0618 ®6 PT1/8 MYBHO0618 ®6 PT1/8
MYBD0614 ®©6 PT1/4 MYBHO0614 ®6 PT1/4
MYBD0638 o6 PT3/8 MYBHO0638 ®6 PT3/8
MYBDO0818 ®8 PT1/8 MYBHO0818 ®8 PT1/8
MYBD0814 ®©8 PT1/4 MYBHO0814 o8 PT1/4
F 51 MYBD0838 ®©8 PT3/8 MYBH0838 o8 PT3/8

| otpmmtgpend ol

/ MYBD1018 ®10 PT1/8 MYBH1018 ®10 PT1/8
§§§ MYBD1014 ®10 PT1/4 MYBH1014 ®10 PT1/4
MYBD1038 ®10 PT3/8 MYBH1038 ®10 PT3/8
MYBD1012 ®10 PT1/2 MYBH1012 ®10 PT1/2
MYBD1214 ®12 PT1/4 MYBH1214 ®12 PT1/4
MYBD1238 ®12 PT3/8 MYBH1238 ®12 PT3/8
MYBD1212 ®©12 PT1/2 MYBH1212 ®12 PT1/2
MYBD1638 ®16 PT3/8 MYBH1638 ®16 PT3/8
MYBD1612 16 PT1/2 MYBH1612 ®16 PT1/2
MYBD1634 16 PT3/4 MYBH1634 ®16 PT3/4
MYBD1912 ®19 PT1/2 MYBH1912 ®19 PT1/2
MYBD1934 ®19 PT3/4 MYBH1934 ®19 PT3/4
MYBD2534 ®25 PT3/4 MYBH2534 ®25 PT3/4

A ZF = i Inside the thread tee %M ZF = i@ Outside the thread tee

B S Model In:;r(ljtqh?-—e)a\d |nTu1a(r]ﬁ1?2ad |nTnse$I?h?;)ad S Wodel |nTm1e(r]ﬁ1?2ad Inzif'ﬁ?:ad Inﬁz(rltﬂh?;)ad
MCBT11818 PS1/8 PT1/8 PT1/8 MCBT21818 PS1/8 PT1/8 PT1/8
MCBT11414 PS1/4 PT1/4 PT1/4 MCBT21414 PS1/4 PT1/4 PT1/4
MCBT13838 PS3/8 PT3/8 PT3/8 MCBT23838 PS3/8 PT3/8 PT3/8
MCBT11212 PS1/2 PT1/2 PT1/2 MCBT21212 PS1/2 PT1/2 PT1/2
MCBT13434 PS3/4 PT3/4 PT3/4 MCBT23434 PS3/4 PT3/4 PT3/4

55



fl‘I 5ﬁ Bﬁ'f Lubrication Accessories

el MIRAN®

4 ZF i 3% SkExternal two-way connector

A o W iE #Z skinternal teeth two-way connector

L —~—-‘B A
'w‘ ‘ '.‘ P T
0= Sl
- ! w.ar//‘///é;m-ml
p/s/ d / \
| = =
B S Model D d L S B 2 vodel A B T 1 ot
T-6-8 M6X1 M8X1 20 8
MK108 23 10 M8X1.0 M8X1.0 10
T-8-8 M8X1 M8X1 23 10
T-8-10 M8X1 M10X1 23 10 MK110 25 12 M10X1.0 | M10X1.0 15
T-8-R1/8 M8X1 R8X1 23 10
T-10-10 M10X1 R10X1 25 10
T-10-R1/8 M10X1 R8X1 25 10 4F] 1 1% B % 3k Copper quick direct head
T-R1/8-R1/8 M10X1 R8X1 25 10
T-R1/8-R1/2 R1/8R1/4 | R1/2 30 22 2 Model e L -
T-R1/8-R1/4 R1/8 R1/4 R1/4 27 14
MKBD0408 04 M8X1. 0
T-R1/4-R1/4 R1/8 R1/4 R1/4 30 14
T-R1/4-R3/8 R1/8 R1/4 R3/8 30 17 MKBD0418 o4 o118
A 5 oF H A L Right Angle joint of inner and outer teeth
sl el < MKBD0618 06 PT1/8
[\ b .
2 vodel D1 D25NFF . *3‘
Inner thread Outer thread i - MKBD0614 o6 PT1/4
\ER)
MBH21818 PS1/8 PT1/8 ¥ i
si MKBD0638 6 PT3/8
MBH21414 PS1/4 PT1/4
MKBD0818 o8 PT1/8
MBH33838 PS3/8 PT3/8
MKBD0814 o8 PT1/4
MBH31212 PS1/2 PT1/2
MBH33434 PS3/4 PT3/4 MKBD0838 o8 PT3/8

A 7 E 8 1& kinternal square joint

4M ZF B £ #E SkOuter tooth rectangular joint

BLS Model InnDe1r|7t\]h5rl;ad Innlzezr[?h?;ad
MBH11818 PS1/8 PT1/8
MBH11414 PS1/4 PT1/4
MBH13838 PS3/8 PT3/8
MBH11212 PS1/2 PT1/2
MBH13434 PS3/4 PT3/4

&S Model Oult:)e‘]rgtll\w?;ad Oult:’ezrgtll\w?;ad
MBH21818 PS1/8 PT1/8
MBH21414 PS1/4 PT1/4
MBH23838 PS3/8 PT3/8
MBH21212 PS1/2 PT1/2
MBH23434 PS3/4 PT3/4

56




el MIRAN®

l:lf, @Uﬁﬁﬁ 5}2;‘[‘,1;%: Proportional Restrictor Rod

=
_};_'_“"__ ] Twme

Direction

12 7

L=

M CH!

28

M JZE

. DPM/DPG/MC/MJB! 3 K i+ & 4 X FREL i3 3k .

%"”cé*ﬂ A% 78 PR 3 AT A0 28 5] R .
3. FBESH: 0. 2MPa,
4. @meﬁﬁhﬁums, mREED CREEH) ﬁlﬁiéﬁﬁtwu%m FRESHEHFABRETHEEEAERENEZ. . 5. K. BN
1{ EHELFRERATFHEHEEAERE. FREGK, HOARLLERREGRZEFENBRNERE (BREHEMN) BHLEGEZHGEKNE
5. ERS HhwgiB b fiEskam@R AR SEE HRITEENERSHERSIE, FH L HRAHETIER.
6.REL: A EMREALREATEFSENERENTHIANMESIRMEAET K.

1.DPM/DPG/MC/MJ type resistance measuring parts are also called proportional joints.

2. Tubular structure with restrictor rod and check valve.

3. Opening pressure: 0.2MPa

4. Control the flow through the throttling principle and distribute the flow proportionately according to the flow capacity (flow number). The far,
near, high, low, horizontal or vertical installations in the relubrication system of the same type of metering component are all basically the same
in actual use. Long service life, the proportion of joints check valve rubber seal external pressure test copper sleeve (except the sealing
surface) to prevent rubber seals from swelling and aging.

5. Sensitive operation and smooth oil discharge: The proportional joint check valve adopts conical spring to ensure that the metering part is
sensitive and oil-free and prevents the excluded oil agent from flowing backwards.

6. Flow ratio: The flow of the same model will change with the change of the ambient temperature and the viscosity of the oil during the actual

use.

57



el MIRAN®

0 SEL M 25t , _ .
i 78 JH & Lubrication Oil Tube

5NN 22 2% EExternal wire hose Model
MST - 1200

o Py - = RONTEERZ - Fm K Bnm
Bemosel | EIASY, |sHEzEmEn | RAEE R irt
ending radius 4 [RREENEHP4
MST-4 o4 3.0Mpa R20mm EHE*#EEFH%I)F'% 6 |FREEIME HO6
®12 Canbe ]
MST-6 D6 2.7Mpa R40mm customized

*MRAREREBGRRE, TEGYEMIERREELSNAMTER, EATRETEE-207+80° ¢
* Qutside steel wire hose uses rubber hose, which can be in the use of chip and rough work environment
and can apply to the temperature range-20~+80°C

] = s 1)
SN X 22 30 E B Hose with outer wire sheath Model
d1 d2 MSP - 1 200

L Fral - —
[sa[EmmzrsnrEE—RK]
(el rmerankEen |
BEModel | “oner | G | Himmmo | d2 L1 L (mm) ERKE (m |
Diameter Pressure bending radius —
4 |ERREE K04
MSP-4 4 3.0Mpa | R20mm 8 17 TRER R 6 |EmmE s A6
g1
Can be ErBE
MSP-6 6 2.7Mpa | R40mm ®10 18 customized =

*OMRNLPERER—MINERENREE, TEAYEMIEXRRELNAMTER, EATREEE-207+80° C
* Outside wire sheath uses nylon tube with spring, which can be in the use of chip and rough work environment and can apply to the
temperaturerange-20~+80°C

) =3 1)
= £ # EHigh pressure hose Model

- MSG —-|_[1200

BOTHER =
=) OB Sh 2d 1 1/ & IMpa ini i
BISModel | outer Diametor | Operate Proseure e ST dz2 L (mm) RRKE (om)

sE|RRTHE
TH|& RN m3eE

4 [RREEIME R4
MSG-4 4 20 R40mm 12 Wmﬁz?giﬁg&fﬁ 6 |= R EE I E D6

Can be —
MSG-6 »6 18 R80mm ®12 customized RrES

*EEREERAREEMNRE, TEGYBMNIERREELENGFRTER, EMTEESTEE-207+80° C
*The high pressure hose uses polyurethane hose, which can in the use of chip and rough work environment and apply to the
temperaturerange-20~+80°C

M 22 58 25 P £ Steel wire spring jacket Model
THT/THM-|__|1200

zE|RRABEANE
- ErRAENE
o BEENE K/ i =
# S lodel Inneriiameter Spring length & f3EE Using range EREE (nm
4 |FREEIME AL
THT D4/P6/P8 2m/4m NP
S5REERERAER 6 |=REE s EHO6
THM D4IDE/DE 2m/4m Used with nylon hose T R E
THV | R R EEHFE

* MRAREFEAGRE, IEBYIBMIERRELSMIM TER, EATERETEE-207+80° C
* Outside steel wire pressure hose uses rubber hose, which can be in the use of chip and rough work environment and apply to the
temperature range-20~+80°C

59



el MIRAN®

B EWode | sk @Traffic (CC/min) % # 7 R Connection mode % ENotes
DPM-0 18
R OEES A SR R0 S B fF
DPM-1 3.8 HEHE W O 5 AT 5 EEMBO4RI MR NE
MPO4€J§?§ ERATXEERBINWEE -
DPM-2 6 BaEIREERT
I The inlet link can be linked to the
DPMﬁ-_J DPM-3 12 adjustable and single side allocator The restrictor bar
- The outlet method can be connected with | can be customized
the casing MB04 and nut MP04 which is
DPM-4 18 often used in the branch pipe distribution
to the mechanical lubrication point
DPM-5 22
A2 Mode | 8 Traffic (CC/min) i ## 5 RConnection mode #%¥Notes
DPJ-0 1.8
Bl O EES R 5 EEMBO4TIZNE
o~ DPJ-1 3.8 MPO4KESE i (3% 5 & 38, % AT
X B K uf 4 BL B AL RCE R = .
PR 7R AT AT AR 4B &= P BT
DPJ-2 6 The inlet connection mode can be E ﬁ%iﬁ&
1) connected with the casing MB04 and
DPJﬁ; DPJ-3 12 nut MP04. The restrictor bar
The outlet end is connected with the can be customized
equipment and is often used to allocate
DPJ-4 18 the end of the branch pipe to the
mechanical lubrication point.
DPJ-5 22
A 2 Mode & Traffic (CC/min) % # 7 R Connection mode #%iENotes
MC-0 1.8
MC-1 3.8
i 47 B 5 B EMBOAR SR 1EMP 044
#%, AT HEYR. IR AT AT AR IR 2 P R
MC-2 6 EEE
M C;IFIJ The two ends are respectively A
= connected with the casing MB04 and The restrictor bar
MC-3 12 the nut MP04, which are often used in can be customized
the middle of the oil road.
MC-4 18
MC-5 22
A 2 Mode & Traffic (CC/min) % # 7 R Connection mode #%iFNotes
MJ-0 1.8
Py MJ-1 3.8 M O % 75 % 7T 5 2 BMBO4RIZ 1R
W MAO4SE 2 i 1% 519 & it 4%, WA T
MJ-2 6 iEE‘EHﬁEﬁEEEH*ﬂW/@IH,MO HEE*;F:J_'—*E?EEFF)?
7 The inlet connection mode can be linked |™” 8 E i
to the casing MB04 and nutMAO04. .
MJ-3 12 The outlet end is connected with the 'tl)'he restrictor bar can
. : e customized
equipment and is often used to allocate
the end of the branch pipe to the
MJ-4 18 mechanical lubrication point.
MJ-5 22

58




el MIRAN®

=S ?R 7’- High Pressure Tubing Joint
= E & #E kS EHigh pressure adapter jacket = EZHE %t The high pressure pipe goes straight up to the core

L3 sw L2
Y X Y
8 9 T a8
T T °v
A 4
L1 ~

MERS GE) [ZESS
Model(Outer Casing) D1 D2 D3 L1 L2 L3 Sw Material
MSG(D/L) M7X0.75 ®11.8 D11.7 28 4 8 12 #Steel
MRS (AKTEE) EIMED1 7t
Mode | (Straightlcore needle) Diam:ter @ L L L2 L3 SW Material
MSGD04 D4 M7X0.75 18 28 4 8 12 #NSteel
MSGDO06 D6 M7X0. 75 18 28 4 8 12 #NSteel

= JE B 5hEHigh pressure adapter jacket

L3 SW L2
) X y
8 — 5T 3a 8
2 [y -
A 4
L1 N
MBE S (O E) [ZEsY
Model(Outer Casing) D1 D2 D3 L1 L2 L SwW Material
MSG(D/L) M7X0.75 ®11.8 ®11.7 28 4 8 12 iRSteel
MRS (TS EE) EIMZD1 7t
(Bend core tul;ing needle) Diam;ter D L L2 L3 oW Material
MSGL04 D4 M7X0.75 45 20.7 25 10 $¥Steel
MSGLO06 D6 M7X0. 75 45 20.7 25 10 iSteel

60



Pl

& JZPipe clamp

» A ®
Zfltem Al EMode | & 1ZDiameter | & % ¥ Amount A © EE (g) Weight E \\ II{AN
MZ1104 P4 1 5 1.2 A
MZ1106 6 1 8.5 7 2.6
) s
RDEEER MZ1108 »8 1 10 9 2.2 A . %
;—_’n“:tejral MZ1110 10 1 125 | 11 3.6 . .
ixed pipe mme—— oo
clamp MZ1204 P4 2 11 5 1.8 A A 5.2
MZ1206 6 2 14.5 7 2.8 ®5. Z—MO IEI.IE
MZ1304 P4 3 15 5 2.2 . e
BIDE EER W30 B 72 5 5k
. N MZ2404 P4 4 18 5 3.0 . : i
WihE R %k Unilateral fixed pipe clamp Bilateral tube clamps
Bilateral tube MZ2504 P4 5 22 5 3.2
clamps
MZ2306 6 3 20 7 3.5
St foke 3 2
;e (QOil pipe)
NI \’// )
~ _— N v <
B hose nylon tube B E aluminumtube IR B gf;zga‘ummumlube i = copper tube
- = EREMIE (SMExAE) Pipe diameter specifications ERAEA (Mpa) FOATEHER (mm) *®E (M)
& FDescription & SMode (outer diameterxinside diameter) Pressure applied minimum bending diameter Length
FZErubber pipe PP D4x2 / D6x4 D10x8 1.0 R30 3 #Ech coil 100m
Jé - &Nylon pipe NP-PA6 D4x2 ®4x2. 5 »6x4 ®10x8 4.0 R30 4 4Ech coil 100m
JE #.%Nylon pipe NP-PA11 D4x2 D4x2.5 D6x4 »10x8 6.0 R20 4 #Ech coil 100m
4B &Aluminum pipe AP D4x2 / D6x4 »10x8 4.0 R40 4 #Ech coil 100m
4 4143 & Copper-coated aluminum pipe APD ®4x2 / D6x4 ®10x8 4.0 R40 4§ %Ech coil 100m
il & Copper pipe CP ! D4x2.5 »6x4. 5 ®10x8 10.0 R20 £} #Ech coil 30m

A &I 57 58 88Adjustable filter 4 §& 5 4% = Performance and characteristics

RHAERAZENBENTAEZTEMERFEERE. BHE

L
K. REFASEBIEMRD .
5 ERRMER, HRME, AFEITFFR ZPEAATENNR
| hip. EAEGK, RETHME.
- Performance and features:
The oil filter will not bend and deformation under pressure
back pressure.The oil filter area is large.The flow will not be
reduced by filtration.
D

Clean sundries is simple, easy to operate. Just turn the cross
handle, and the sundry can fall into cup body.Long service
life, safe and trouble-free.

R p . SREF| Ut = E

M%d*;rl M #ZCaliber(E) H L D ”(]i_%mi:)w f“(erin;‘;ﬁfﬁi%on(u) Maximumappﬁhckaziiofgejgsure (Mpa)
FL102 PT1/4 160 75 55 25 100 3.5
FL103 PT3/8 160 75 55 35 100 3.5
FL104 PT1/2 230 100 75 50 100 3.5
FL106 PT3/4 230 100 75 80 100 3.5
FL108 PT1 270 120 75 105 100 3.5

I E #&The filter % 88 5 4% &5 Performance and characteristics
25 | AN 5 Eh=ay = 5 A 3 5 [h o dE
Q@ | ZTERRAREEN, EESTETE, RIEGR, RE

o) HE.

IN 52 *;*/%%{” Performance and features:

|
\ The filter is made of copper - based filter with high - density
|

T 1 XNUT filtration, easy to operate and easy to install.

| 37.5
A LESHiE A IR i (g)
Model MESEAE 0,5;/?“"‘] L0 maximun flow(L/min) filtering precision(u) Y 2 @UAr Weight
ML-1025 30 25 10 0.3
PS1/8XPS1/8
ML-2530 30 3.0 25 0.3
PS1/4XPS1/4
ML-12535 30 3.0 125 0.3

61



HETEGE

el MIRAN®

btk e HHEAR il Bk =18 1= &) Bl 2 HEAR {5l 55K = 1 B
0% Aﬁ & 0 e ﬁ&ﬁ @ﬁ%%
B ,ﬁﬁcjﬁo(:lz/sﬁxﬁmﬁaéxﬁ {%ﬁ;g%i&ﬁﬁoﬂ%ﬁ; s ©@ 53?%9;()).013KX}§J&X'§€ ﬁéﬁfﬁ%mx&é‘i
0=0. 023X8X10=1. 84ml/h 0=0. 013X20X2=0. 52ml/h
K HEQ=0. 0017KXBHR |BRF—EETAESHNER BREF—EWR, TERER
FESH I Jg%si?&g;omg %>06le%$& }%ggéﬁmmm, KB | e ;%%O?H?i?:)ém*ﬁﬁ?éxﬁ 8*'""!5 W FE2mm, K G B
KXBRFE (ml/h) 0=0.006x10x4=0. 24ml|/h 0=0. 046X8X2=0. 74ml /h
iR — EAER A, 18 5 —H 5 2 K300mm,
mie A ovveREes | RN ux e M OREER ERG SEIHT A
@=0.0023x8x10=1.84ml/h 19mli/h
Fs B4 A e )R & HERR 5 5%
BEZFRAX EREMMEBIR
L EIR ¥tk B R4
WASIERFE BIEAR. BREY
1 MR BB A B R F i B
B AR 3P R 1E B E/YSWHETIRE
y: R i AN FEEE T E R
SiEER BiDA
i T HERR R =
EARRH BENR
G R k) HEF T
2 EhAE i R E 1T E R EFASRAREEND
WS S 057 I 4 3 38 ERAE. BRTIER
AL KR EERSHE RS
TR S HEK
3 N HERMRE RAZSKETH FoRM. HS
WS S O 57 ) 4 3 28 THEIEEFE. FREIER
G R ¥ E 7 5
4 tmED ERMENKXK BB E 8
i iR I 77 R EIARERREEND
1< B 15 A S IR BB 5 PERREE DR ERRE
RGEENTE B 5215 8 b K HE B
5 EDFERKRE BELEIR 1F B 2
& 17K BEHFX
FERR IR B F K
6 WAL T K K 4T WAL % B 2R R 3 B A 1R R R
IR IEfRRC %k
NEFBEEFRERB 3 4K 3R i B 1]
i R B 240 r EDE IRt R R
, SRR HEE £ 1% R 38 v D T ED R R
TRER LA RGEENKS I A R R E 5
EEE P N MAERE NS R
BB IRT Fin S

62




Calculation of oil volume required for lubrication

el MIRAN®

Type
of Moving objects

Formula

Example(when K=1)

Formula

Example(when K=1)

Ball-bearing e
Roller bearing {2 )Y)
Cylindrical Q

Oil volume Q=0.14K x
bearing diameter x bearing
qty(ml/h)

Suppose there is a ball-
bearing, the bearing
diameteris 80mm, every
hour the required oil
volume

Q=0.04 x8 x 1=0.32ml/h

Oil volume Q=0.012k x
block length x block
width(ml/h)

Suppose thereis a linear
sliding track, the block
length is 80mm, quality of
blocks is 2, every hour the
required oil volume
Q=0.012x 8 x2=0.19ml/h

Plain bearing

Oil volume Q=0.023K x
bearing diameter x contact
length(ml/h)

Suppose there is a plain
bearing, the bearing
diameter is 80mm, contact
length is 100mm, every
hour the required oil
volume

Q=0.023x 8 x 10=1.84ml/h

Oil volume Q=0.013k x
perimeter x width(ml/h)

Suppose thereis a cam,
the perimeteris 200mm,
width is 20mm, every hour
the required oil volume
Q=0.013x 20 x2=0.52ml/h

Horizontal: Oil volume
Q=0.0017 x block length x
block width(ml/h)
Vertical: Oil volume
Q=0.006 x block length x
block width(ml/h)

Suppose there is a smooth
sliding track vertically
placed, the block length is
100mm,width is 40mm,
every hour the required oil
volume

Q=0.006 x 10 x4=0.24ml/h

Oil volume Q=0.046k x
diameter of pitchcircle x
gear width(ml/h)

Suppose there is a gear,
the diameter of pitchcircle
is 80mm, gear width is
20mm, every hour the
required oil volume
Q=0.046 x 8 x 2=0.74ml/h

Smooth

sliding track [
Cylindrical

sidling track

Oil volume Q=0.023K x
bearing diameter x contact
length(ml/h)

Suppose there is arolling
cylinder, the diameter is
80mm, length is 100mm,
every hour the required oil
volume

Q=0.023x 8 x 10=1.84ml/h

Type of Moving objects
Ball-bearing
track
©
Cam
Gear
Chain

Oil volume Q=0.008k x
chain length x width(ml/h)

Suppose there is a chain,
the length is 300mm, chair
width is 8mm, every hour
the required oil volume
Q=0.008 x 30 x
0.8=0.19ml/h

Eliminating methods

Series Phenomenon Possible causes Eliminating methods
Incorrect voltage rates Use the correct power source
incorrect connection Follow the wiring diagram
Non-rotation of Pump is deadlocked by foreign body aspiration Open oil pump and remove foreign body
! oil pump The coupling is damaged or shed Restores the linoleum
Thermal protection of motor works Wait for a few minutes to recover
The oil level is too low Add lubricating oil to liquid level
The motor damage Replace the motor
Oil tube leaking Eliminating leaking point
Pressure gauge failures Replace pressure gauge
There is sundries in the overflow valve Disassemble and clean
2 insufficient pressure The pressure of the overflow valve is too low Reset higher pressure of the overflow valve
The filter screen of the suction nozzle is blocked. Clean oil tank and filter screen
The oil viscosity is too low Disassemble and clean
The reservoir of oil tank is too high. Select high viscosity oils
3 No oil outlet while the pump rotates The airin the pump is not clean. drainage
The filter screen of the suction nozzle is blocked Press the Man button to venting
There is sundries in the overflow valve Clean oil tank and filter screen
4 Little oil outlet There is too much resistance in the pipeline Disassemble and clean
The pressure of the overflow valve is too low Dredge the pipe line
Wear of oil pump for a long time use Reset the pressure of the overflow valve
Inadequate system pressure Reset higher pressure of the overflow valve or replace the pump body
5 Pressure switch is - - — -
out of control incorrect connection Follow the wiring diagram
Pressure switch is broken Replace pressure switch
Floating ball damage Replace the float ball
6 Ixi?chliisqottigf C'cf’n‘{:): The liquid level sensor fails Replace the liquid level sensor
incorrect connection Follow the wiring diagram
The piston rod of distributor is not prominent enough Extend pump oiling time
There is sundries in the overflow valve Remove and clean the overflow valve
The volume distributor is pressure release valve is deadlocked Disassemble and clean the pressure release valve
7 not working properly
System pressure is too high Properly reduce pressure of overflow valve
The pipe line is too elastic. Use high quality and high rigid pipe line
Distributor damage Change distributor

63




B MIRAN

mET e E MERHER
Global Local

on R s —

Quality First
HRZEL
Customer First
1ERESPN
Integrity-based

BAR/SAE/HEL/RIEE:

e -
1 1

RRAVRRN T K BARHZ B R AR A

EAEN, SEN. BHEERFWIET BEHETRIL
2019568 i &

All Rights Reserved by Shenzhen Miran Technology Co., Ltd
Any copy,photocopy or production as commercial

promotion are infringement.
Edition_Version_2019(Updated June 2019)




	1: 封面
	2: 目录
	3: 目录
	4: 目录
	5: 公司介绍
	6: 产品图
	7: 产品图
	8: 容积式润滑系统装配图
	9: 抵抗式润滑系统装配图
	10: 加压式润滑系统装配图
	11: 型号标志及其说明
	12: MR-2202-2 (2L)半自动稀油泵
	13: MR-2232-2 (2L)全自动稀油泵
	14: MR-2202-3 (3L)半自动稀油泵
	15: MR-2232-3 (3L)全自动稀油泵
	16: MR-2202-4(4L)半自动稀油泵
	17: MR-2232-4 (4L)全自动稀油泵
	18: MRG-3202-3（3L）油脂稀油一体泵
	19: MRG-3232-3 (3L)油脂稀油一体泵
	20: MRG-2202-4连续型(4L)油脂稀油一体泵
	21: MRG-2232-4连续型(4L)油脂稀油一体泵
	22: MRG-3202-5(5L)油脂稀油一体泵
	23: MRG-3232-5(5L)油脂稀油一体泵
	24: MRG-3205-5(5L)油脂稀油一体泵24V
	25: MRG-3235(5L)油脂稀油一体泵24V
	26: MRG-5202-3(3L)油脂稀油一体泵
	27: MRG-5202-41(4L)油脂稀油泵-金属油箱
	28: MRG-5232-41 (4L)油脂稀油泵-金属油箱
	29: MRG-5232-5(5L)油脂稀油一体泵
	30: MRG-5202-5(5L)油脂稀油一体泵
	31: MGH-1202-100T00半自动油脂泵
	32: MRH-1232-100TB全自动油脂泵
	33: MGH-1202-100T PLC半自动黄油泵
	34: MGH-1205-100T半自动黄油泵
	35: MGH-1232-100TB微电脑黄油泵
	36: 摆线泵系列
	37: 自吸式冷却润滑喷雾器
	38: MRQ油雾润滑泵半自动
	39: MRQ油雾润滑泵全自动
	40: MYW油雾润滑系统
	41: 手拉泵手摇润滑油泵
	42: 手压泵手动黄油脂泵
	43: LA/LV/LK/LE/LB/LBM分配器
	44: 双边分配器
	45: 单边分配器
	46: 限流分配器
	47: LD定量脱压式稀油分配器
	48: LC定量脱压式全封闭稀油分配器
	49: LH/LE定量油脂加压式分配器
	50: 润滑附件
	51: 润滑附件
	52: 润滑附件
	53: 润滑附件
	54: 润滑附件
	55: 润滑附件
	56: 润滑附件
	57: 比例式限流杆
	58: 油管
	59: 比例式限流杆2
	60: 高压管接头
	61: 油管过滤器
	62: 油量计算/故障排除
	63: 油量计算/故障排除英文
	64: 尾页

